Ichchhanath, Surat-395007 (Gujarat), India

			1	2	3	4	5	6	7	8	9	10	11	12	13	14	Remark
Semester	Student Name	Course Code	CH301 T	CH301 P	CH303 T	CH305 T	CH307 P	HU301 T	MA363 T	CH321 T		10		12	- 13		Temark
		Credit	4.00	1.00	4.00	4.00	1.00	4.00	3.00	3.00							
Admission Number	Reg- Earn- Credit Credit	SGPA CGPA	MASS TRANSFER OPERATION S - II	MASS TRANSFER OPERATION S - II (PRAC.)	CHEMICAL ENGINEERI NG THERMODYN AMICS - II	CHEMICAL REACTION ENGINEERI NG - II	SEMINAR	PROFESSIO NAL ETHICS, ECONOMIC S AND BUSINESS MANAGEME NT	STOCHASTI C	BIOPROCES S							
Semester : U21CH010	7 CHAUDHARI MIHIRKUMA 24.00 10.00		FF	ВС	FF	CD	ВС	СС	FF	FF							BACKLOG: 18 CREDIT(S)
Semester : U21CH087	7 GANDHAM PRASHANTH		DD	ВС	FF	CD	ВС	ВС	FF	FF							BACKLOG: 14 CREDIT(S)
Semester	Student Name	Course Code	CH301 T	CH301 P	CH303 T	CH305 T	CH307 P	HU301 T	CH365 T	CH327 T						<u> </u>	
		Credit	4.00	1.00	4.00	4.00	1.00	4.00	3.00	3.00						<u></u>	
Admission Number	Reg- Earn- Credit Credit	SGPA CGPA	MASS TRANSFER OPERATION S - II	MASS TRANSFER OPERATION S - II (PRAC.)	CHEMICAL ENGINEERI NG THERMODYN AMICS - II	CHEMICAL REACTION ENGINEERI NG - II	SEMINAR	PROFESSIO NAL ETHICS, ECONOMIC S AND BUSINESS MANAGEME NT	FUELS AND COMBUSTIO N (EIS-I)	INTRODUCT ION OF ELECTROCH EMISTRY (CE-I)							
Semester :	7 YASH JAISWAL									55							
U21CH092	24.00 24.00	7.33 8.13	BC	BB	CD	CC	AB	AB	AB	BB						I	
Semester	Student Name	Course Code	CH301 T	CH301 P	CH303 T	CH305 T	CH307 P	HU301 T	PH363 T	CH327 T							
		Credit	4.00	1.00	4.00	4.00	1.00	4.00	3.00	3.00							
Admission Number	Reg- Earn- Credit Credit	SGPA CGPA	MASS TRANSFER OPERATION S - II	MASS TRANSFER OPERATION S - II (PRAC.)	CHEMICAL ENGINEERI NG THERMODYN AMICS - II	CHEMICAL REACTION ENGINEERI NG - II	SEMINAR	PROFESSIO NAL ETHICS, ECONOMIC S AND BUSINESS MANAGEME NT	SOLAR CELL TECHNOLO GIES (EIS-I)	INTRODUCT ION OF ELECTROCH EMISTRY (CE-I)							
Semester :	5 MAHANT NIYATI DHIREN	NDRAKUMAR	AA	AB	AB	ВВ	AA	AB	AA	AA						I	
U22CH001	24.00 24.00	9.29 8.69	, , , ,		,,,,		, , , ,	, , ,	, , , ,							<u> </u>	
Semester	Student Name	Course Code	CH301 T	CH301 P	CH303 T	CH305 T	CH307 P	HU301 T	EC361 T	CH327 T							
		Credit	4.00	1.00	4.00	4.00	1.00	4.00	3.00	3.00							
Admission Number	Reg- Earn- Credit Credit	SGPA CGPA	MASS TRANSFER OPERATION S - II	MASS TRANSFER OPERATION S - II (PRAC.)	CHEMICAL ENGINEERI NG THERMODYN AMICS - II	CHEMICAL REACTION ENGINEERI NG - II	SEMINAR	PROFESSIO NAL ETHICS, ECONOMIC S AND BUSINESS MANAGEME NT	SENSORS AND TRANSDUCE RS (EIS-I)	INTRODUCT ION OF ELECTROCH EMISTRY (CE-I)							
Semester : U22CH002	5 JOSHI MITESH PRAFUL 24.00 24.00	8.00 8.61	СС	BB	BB	СС	AA	AA	AB	AB							

Ichchhanath, Surat-395007 (Gujarat), India

REPORT SHEET SHOWING RESULT OF CANDIDATES APPEARED AT B.TECH. III FIFTH SEMESTER CHEMICAL ENGINEERING AT REGULAR EXAM HELD DURING NOV/DEC 2024

				1	2	3	4	5	6	7	8	9	10	11	12	13	14	Remark
Semester	Student Name	C	Course Code	CH301 T	CH301 P	CH303 T	CH305 T	CH307 P	HU301 T	CH365 T	CH321 T							
			Credit	4.00	1.00	4.00	4.00	1.00	4.00	3.00	3.00							
Admission Number	Reg- Earn- Credit Credit	SGPA	CGPA	MASS TRANSFER OPERATION S - II	MASS TRANSFER OPERATION S - II (PRAC.)	CHEMICAL ENGINEERI NG THERMODYN AMICS - II	CHEMICAL REACTION ENGINEERI NG - II	SEMINAR	PROFESSIO NAL ETHICS, ECONOMIC S AND BUSINESS MANAGEME NT	FUELS AND COMBUSTIO N (EIS-I)	BIOPROCES S ENGINEERI NG (CE-I)							
Semester :	5 GOHEL SNEHA RAJES	SH		AB	AB	BB	ВС	AB	AB	BB	AB							
U22CH003	24.00 24.0	0 8.38	7.65		\ \\D		ВО	AD	ΛΒ		, (5							!
Semester	Student Name		Course Code	CH301 T	CH301 P	CH303 T	CH305 T	CH307 P	HU301 T	HU361 T	CH327 T							
			Credit	4.00	1.00	4.00	4.00	1.00	4.00	3.00	3.00							
Admission Number	Reg- Earn- Credit Credit		CGPA	MASS TRANSFER OPERATION S - II	MASS TRANSFER OPERATION S - II (PRAC.)	CHEMICAL ENGINEERI NG THERMODYN AMICS - II	CHEMICAL REACTION ENGINEERI NG - II	SEMINAR	PROFESSIO NAL ETHICS, ECONOMIC S AND BUSINESS MANAGEME NT	MARKETING MANAGEME NT (EIS-I)	INTRODUCT ION OF ELECTROCH EMISTRY (CE-I)							
Semester : U22CH004	5 PATEL VRUSHTI JAGE 24.00 24.0		8.20	ВВ	BB	ВС	ВС	AB	AB	ВС	ВВ							
Semester	Student Name		Course Code	CH301 T	CH301 P	CH303 T	CH305 T	CH307 P	HU301 T	PH361 T	CH327 T							
			Credit	4.00	1.00	4.00	4.00	1.00	4.00	3.00	3.00							
Admission Number	Reg- Earn- Credit Credit	SGPA	CGPA	MASS TRANSFER OPERATION S - II	MASS TRANSFER OPERATION S - II (PRAC.)	CHEMICAL ENGINEERI NG THERMODYN AMICS - II	CHEMICAL REACTION ENGINEERI NG - II	SEMINAR	PROFESSIO NAL ETHICS, ECONOMIC S AND BUSINESS MANAGEME NT	BASICS OF ASTRONOMY AND ASTROPHYS ICS (EIS-I)	INTRODUCT ION OF ELECTROCH EMISTRY (CE-I)							
Semester :	5 ATHARVA GANESH TA	AJANE																
U22CH006	24.00 24.0	0 867	8.72	BB	BB	AB	BB	AB	AA	AB	BB							
Semester	Student Name		Course Code	CH301 T	CH301 P	CH303 T	CH305 T	CH307 P	HU301 T	CE377 T	CH321 T							
			Credit	4.00	1.00	4.00	4.00	1.00	4.00	3.00	3.00							
Admission Number	Reg- Earn- Credit Credit	t SGIN	CGPA	MASS TRANSFER OPERATION S - II	MASS TRANSFER OPERATION S - II (PRAC.)	CHEMICAL ENGINEERI NG THERMODYN AMICS - II	CHEMICAL REACTION ENGINEERI NG - II	SEMINAR	PROFESSIO NAL ETHICS, ECONOMIC S AND BUSINESS MANAGEME NT		BIOPROCES S							
Semester : U22CH007	5 MAHYAVANSHI PRIYA 24.00 24.0			ВС	АВ	CD	СС	AB	АВ	АВ	ВВ							

Ichchhanath, Surat-395007 (Gujarat), India

REPORT SHEET SHOWING RESULT OF CANDIDATES APPEARED AT B.TECH. III FIFTH SEMESTER CHEMICAL ENGINEERING AT REGULAR EXAM HELD DURING NOV/DEC 2024

			1	2	2	4	5	6	7	0	9	10	11	12	12	14	Domark
Camanatan	Chirdont None	Common Contra		2	3 CU202 T	4 CU20E T	CH307 P	6	-	8 CH327 T	9	10	11	12	13	14	Remark
Semester	Student Name	Course Code	CH301 T	CH301 P	CH303 T	CH305 T		HU301 T	CH365 T								
		Credit	4.00	1.00	4.00	4.00	1.00	4.00	3.00	3.00							
Admission Number	Reg- Earn- Credit Credit	SGPA CGPA	MASS TRANSFER OPERATION S - II	MASS TRANSFER OPERATION S - II (PRAC.)	CHEMICAL ENGINEERI NG THERMODYN AMICS - II	CHEMICAL REACTION ENGINEERI NG - II	SEMINAR	PROFESSIO NAL ETHICS, ECONOMIC S AND BUSINESS MANAGEME NT	FUELS AND COMBUSTIO N (EIS-I)	INTRODUCT ION OF ELECTROCH EMISTRY (CE-I)							
Semester :	5 SNEHA PRASAD		ВС	DD	DC.	00	D	A.D.	AD	AA							
U22CH008	24.00 24.00	7.88 7.81	ВС	BB	ВС	CC	BB	AB	AB	AA							
	5 HIMANSHU SINGH	7.00															
1100011000			BB	AB	BC	BB	AB	AB	AA	AA							
U22CH009		•	CH301 T	CH301 P	CH303 T	CH305 T	CH307 P	HU301 T	CH365 T	CH321 T							
Semester	Student Name	Course Code															
Admission Number	Reg- Earn- Credit Credit	Credit SGPA CGPA	4.00 MASS TRANSFER OPERATION S - II	MASS TRANSFER OPERATION S - II (PRAC.)	CHEMICAL ENGINEERI NG THERMODYN AMICS - II	CHEMICAL REACTION ENGINEERI NG - II	1.00 SEMINAR	PROFESSIO NAL ETHICS, ECONOMIC S AND BUSINESS MANAGEME NT	FUELS AND COMBUSTIO N (EIS-I)	BIOPROCES S ENGINEERI NG (CE-I)							
Semester :	5 KAPADIA FORAM SHAILE	SHKUMAR			0.5	D.O.				OD.							
U22CH010	24.00 24.00	6.54 6.42	CC	BB	CD	BC	AB	BB	ВС	CD							
	5 SHAH PREET SANJAY KUI	MAR	ВС	АВ	СС	СС	AB	AB	AB	AB							
Semester	Student Name	Course Code	CH301 T	CH301 P	CH303 T	CH305 T	CH307 P	HU301 T	HU361 T	CH327 T							
		Credit	4.00	1.00	4.00	4.00	1.00	4.00	3.00	3.00							
Admission Number	Reg- Earn- Credit Credit	SGPA CGPA	MASS TRANSFER OPERATION S - II	MASS TRANSFER OPERATION S - II (PRAC.)	CHEMICAL ENGINEERI NG THERMODYN AMICS - II	CHEMICAL REACTION ENGINEERI NG - II	SEMINAR	PROFESSIO NAL ETHICS, ECONOMIC S AND BUSINESS MANAGEME NT	MARKETING MANAGEME NT (EIS-I)	INTRODUCT ION OF ELECTROCH EMISTRY (CE-I)							
Semester :	5 BANDGAR GOMATI AMBA	ADAS	AA	BB	AB	BB	AA	AB	BB	AA							
U22CH014	24.00 24.00	9.00 8.49								, , , ,							
Semester	Student Name	Course Code	CH301 T	CH301 P	CH303 T	CH305 T	CH307 P	HU301 T	MA361 T	CH327 T							
		Credit	4.00	1.00	4.00	4.00	1.00	4.00	3.00	3.00							
Admission Number	Reg- Earn- Credit Credit	SGPA CGPA	MASS TRANSFER OPERATION S - II	MASS TRANSFER OPERATION S - II (PRAC.)	CHEMICAL ENGINEERI NG THERMODYN AMICS - II	CHEMICAL REACTION ENGINEERI NG - II	SEMINAR	PROFESSIO NAL ETHICS, ECONOMIC S AND BUSINESS MANAGEME NT	ADVANCED MATHEMATI CAL METHODS (EIS-I)	INTRODUCT ION OF ELECTROCH EMISTRY (CE-I)							
Semester : U22CH015	5 NIRAJ PRAVIN PAWAR 24.00 24.00	7.92 8.12	ВВ	АВ	ВС	ВВ	AB	ВВ	ВС	AB							

Abbrivations: SGPA = Semester Grade Point Average, CGPA = Cumulative Grade Point Average Grade: AA-10 AB-9 BB-8 BC-7 CC-6 CD-5 DD-4 FF-0 II - INCOMPLETE NA - NOT APPEARED XX - UNSATISFATORY ATTENDANCE NP/NF-AUDIT PASS/FAIL The actual mark statement with the Academic / Examination section shall be final & binding to all Page 3 of 26

Ichchhanath, Surat-395007 (Gujarat), India

REPORT SHEET SHOWING RESULT OF CANDIDATES APPEARED AT B.TECH. III FIFTH SEMESTER CHEMICAL ENGINEERING AT REGULAR EXAM HELD DURING NOV/DEC 2024

					1	2	3	4	5	6	7	8	9	10	11	12	13	14	Remark
Semester	Student Nan	ne	(Course Code	CH301 T	CH301 P	CH303 T	CH305 T	CH307 P	HU301 T	CH365 T	CH321 T							
				Credit	4.00	1.00	4.00	4.00	1.00	4.00	3.00	3.00							
Admission Number	Reg- Credit	Earn- Credit	SGPA	CGPA	MASS TRANSFER OPERATION S - II	MASS TRANSFER OPERATION S - II (PRAC.)	CHEMICAL ENGINEERI NG THERMODYN AMICS - II	CHEMICAL REACTION ENGINEERI NG - II	SEMINAR	PROFESSIO NAL ETHICS, ECONOMIC S AND BUSINESS MANAGEME NT	FUELS AND COMBUSTIO N (EIS-I)	BIOPROCES S ENGINEERI NG (CE-I)							
Semester :	5 FALDU VIVEK	JAYANTIB	HAI		ВС	BB	ВС	CD	ВС	BC	BB	СС							
U22CH016	24.00	24.00	6.71	7.00				-											
Semester	Student Nan	ne	C	Course Code	CH301 T	CH301 P	CH303 T	CH305 T	CH307 P	HU301 T	CE369 T	CH321 T							
				Credit	4.00	1.00	4.00	4.00	1.00	4.00	3.00	3.00							
Admission Number	Reg- Credit	Earn- Credit		CGPA	MASS TRANSFER OPERATION S - II	MASS TRANSFER OPERATION S - II (PRAC.)	CHEMICAL ENGINEERI NG THERMODYN AMICS - II	CHEMICAL REACTION ENGINEERI NG - II	SEMINAR	PROFESSIO NAL ETHICS, ECONOMIC S AND BUSINESS MANAGEME NT	TRANSPORT ATION SAFETY & ENVIRONME NT (EIS-I)	BIOPROCES S ENGINEERI NG (CE-I)							
Semester :	5 GAIKWAD KU	NAL SAMA	DHAN		BB	BB	СС	ВС	ВВ	ВС	BB	BB							
U22CH018	24.00	24.00	7.33	7.39				_											
Semester	Student Nan	ne	C	Course Code	CH301 T	CH301 P	CH303 T	CH305 T	CH307 P	HU301 T	CH365 T	CH327 T							
				Credit	4.00	1.00	4.00	4.00	1.00	4.00	3.00	3.00							
Admission Number	Reg- Credit	Earn- Credit	SGPA	CGPA	MASS TRANSFER OPERATION S - II	MASS TRANSFER OPERATION S - II (PRAC.)	CHEMICAL ENGINEERI NG THERMODYN AMICS - II	CHEMICAL REACTION ENGINEERI NG - II	SEMINAR	PROFESSIO NAL ETHICS, ECONOMIC S AND BUSINESS MANAGEME NT	FUELS AND COMBUSTIO N (EIS-I)	INTRODUCT ION OF ELECTROCH EMISTRY (CE-I)							
Semester :	5 ABHISHEK SH	IARMA																	
U22CH019	24 00	24.00	6.83	7.95	CC	BB	CC	CD	ВВ	BB	BB	BB							
Semester	Student Nan	-	•	Course Code	CH301 T	CH301 P	CH303 T	CH305 T	CH307 P	HU301 T	ME361 T	CH321 T							
				Credit	4.00	1.00	4.00	4.00	1.00	4.00	3.00	3.00							
Admission Number		Credit		CGPA	MASS TRANSFER OPERATION S - II	MASS TRANSFER OPERATION S - II (PRAC.)	CHEMICAL ENGINEERI NG THERMODYN AMICS - II	CHEMICAL REACTION ENGINEERI NG - II	SEMINAR	PROFESSIO NAL ETHICS, ECONOMIC S AND BUSINESS MANAGEME NT	PLASTIC AND CERAMICS (EIS-I)	BIOPROCES S ENGINEERI NG (CE-I)							
Semester : U22CH020	5 KHATIK PRING	CE MOHAN		6.14	CD	ВС	DD	СС	ВВ	СС	CC	FF							BACKLOG: 11 CREDIT(S)

Ichchhanath, Surat-395007 (Gujarat), India

			1	2	3	4	5	6	7	8	9	10	11	12	13	14	Remark
Semester	Student Name	Course Code	CH301 T	CH301 P	CH303 T	CH305 T	CH307 P	HU301 T	HS310 T	CH327 T							
		Credit	4.00	1.00	4.00	4.00	1.00	4.00	3.00	3.00							
Admission Number	Reg- Earn- Credit Credit	SGPA CGPA	MASS TRANSFER OPERATION S - II	MASS TRANSFER OPERATION S - II (PRAC.)	CHEMICAL ENGINEERI NG THERMODYN AMICS - II	CHEMICAL REACTION ENGINEERI NG - II	SEMINAR	PROFESSIO NAL ETHICS, ECONOMIC S AND BUSINESS MANAGEME NT	FOREIGN LANGUAGE COURSE IN GERMAN (EIS-I)	INTRODUCT ION OF ELECTROCH EMISTRY (CE-I)							
Semester:	5 ABHAY DUBEY									4.0							
U22CH021	24.00 24.00	8.67 8.64	BB	AB	BB	BB	AB	AA	AB	AB							
Semester	Student Name	Course Code	CH301 T	CH301 P	CH303 T	CH305 T	CH307 P	HU301 T	HU361 T	CH327 T							
		Credit	4.00	1.00	4.00	4.00	1.00	4.00	3.00	3.00							
Admission Number	Reg- Earn- Credit Credit	SGPA CGPA	MASS TRANSFER OPERATION S - II	MASS TRANSFER OPERATION S - II (PRAC.)	CHEMICAL ENGINEERI NG THERMODYN AMICS - II	CHEMICAL REACTION ENGINEERI NG - II	SEMINAR	PROFESSIO NAL ETHICS, ECONOMIC S AND BUSINESS MANAGEME NT	MARKETING MANAGEME NT (EIS-I)	INTRODUCT ION OF ELECTROCH EMISTRY (CE-I)							
Semester:	5 VAISHVIK KOTHIA		00	AD	DO	DC.	DD	4 D	DD	AB							
U22CH023	24.00 24.00	8.00 8.14	BB	AB	BC	BC	BB	AB	BB	AD							
Semester	Student Name	Course Code	CH301 T	CH301 P	CH303 T	CH305 T	CH307 P	HU301 T	CY361 T	CH321 T							
		Credit	4.00	1.00	4.00	4.00	1.00	4.00	3.00	3.00							
Admission Number	Reg- Earn- Credit Credit	SGPA CGPA	MASS TRANSFER OPERATION S - II	MASS TRANSFER OPERATION S - II (PRAC.)	CHEMICAL ENGINEERI NG THERMODYN AMICS - II	CHEMICAL REACTION ENGINEERI NG - II	SEMINAR	PROFESSIO NAL ETHICS, ECONOMIC S AND BUSINESS MANAGEME NT	CHEMISTRY OF ENGINEERI NG MATERIALS (EIS-I)	BIOPROCES S ENGINEERI NG (CE-I)							
Semester:	5 ABHISHEK SHAH					0.5											BACKLOG:
U22CH024	24.00 18.00	4.08 5.80	DD	CC	DD	CD	BB	BB	XX	FF							18 CREDIT(S)
Semester	Student Name	Course Code	CH301 T	CH301 P	CH303 T	CH305 T	CH307 P	HU301 T	PH363 T	CH327 T							
		Credit	4.00	1.00	4.00	4.00	1.00	4.00	3.00	3.00							
Admission Number	Credit Credit	SGPA CGPA	MASS TRANSFER OPERATION S - II	MASS TRANSFER OPERATION S - II (PRAC.)	CHEMICAL ENGINEERI NG THERMODYN AMICS - II	CHEMICAL REACTION ENGINEERI NG - II	SEMINAR	NAL	SOLAR CELL TECHNOLO GIES (EIS-I)	INTRODUCT ION OF ELECTROCH EMISTRY (CE-I)							
Semester: !	5 RATHOUR ADITYA SUREN 24.00 24.00 		BB	AB	AB	AB	AB	AA	AB	AB							
	5 SOLANKI SMIT PARESHKI	JMAR	AA	AB	AA	AB	AA	AB	ВВ	AA							

Ichchhanath, Surat-395007 (Gujarat), India

REPORT SHEET SHOWING RESULT OF CANDIDATES APPEARED AT B.TECH. III FIFTH SEMESTER CHEMICAL ENGINEERING AT REGULAR EXAM HELD DURING NOV/DEC 2024

				1	2	3	4	5	6	7	8	9	10	11	12	13	14	Remark
Semester	Student Name		ourse Code	CH301 T	CH301 P	CH303 T	CH305 T	CH307 P	HU301 T	CH365 T	CH327 T	9	10	11	12	13	17	Kentark
			Credit	4.00	1.00	4.00	4.00	1.00	4.00	3.00	3.00							
Admission Number	Reg- Earn- Credit Credit	SGPA	CGPA	MASS TRANSFER OPERATION S - II	MASS TRANSFER OPERATION S - II (PRAC.)	CHEMICAL ENGINEERI NG THERMODYN AMICS - II	CHEMICAL REACTION ENGINEERI NG - II	SEMINAR	PROFESSIO NAL ETHICS, ECONOMIC S AND BUSINESS MANAGEME NT	FUELS AND COMBUSTIO N (EIS-I)	INTRODUCT ION OF ELECTROCH EMISTRY (CE-I)							
Semester:	5 MESHRAM SHRUSHTI BA		8.01	ВВ	ВВ	ВВ	ВВ	AB	ВВ	AB	BB							
Semester	Student Name		ourse Code	CH301 T	CH301 P	CH303 T	CH305 T	CH307 P	HU301 T	CY361 T	CH321 T							
			Credit	4.00	1.00	4.00	4.00	1.00	4.00	3.00	3.00							
Admission Number	Reg- Earn- Credit Credit	SGPA	CGPA	MASS TRANSFER OPERATION S - II	MASS TRANSFER OPERATION S - II (PRAC.)	CHEMICAL ENGINEERI NG THERMODYN AMICS - II	CHEMICAL REACTION ENGINEERI NG - II	SEMINAR	PROFESSIO NAL ETHICS, ECONOMIC S AND BUSINESS MANAGEME NT	CHEMISTRY OF ENGINEERI NG MATERIALS (EIS-I)	BIOPROCES S ENGINEERI NG (CE-I)							
Semester:	5 DWIVEDI VIVEK RAMPH/	AL 0.00	5.45	NA	NA	NA	NA	NA	NA	XX	NA							BACKLOG: 32 CREDIT(S)
Semester	Student Name		ourse Code	CH301 T	CH301 P	CH303 T	CH305 T	CH307 P	HU301 T	PH363 T	CH327 T							
			Credit	4.00	1.00	4.00	4.00	1.00	4.00	3.00	3.00							
Admission Number	Reg- Earn- Credit Credit	SGPA	CGPA	MASS TRANSFER OPERATION S - II	MASS TRANSFER OPERATION S - II (PRAC.)	CHEMICAL ENGINEERI NG THERMODYN AMICS - II	CHEMICAL REACTION ENGINEERI NG - II	SEMINAR	PROFESSIO NAL ETHICS, ECONOMIC S AND BUSINESS MANAGEME NT	SOLAR CELL TECHNOLO GIES (EIS-I)	INTRODUCT ION OF ELECTROCH EMISTRY (CE-I)							
Semester:	5 MOHAMMAD BADAR KAI	SAR KHAN	l l								4.5							
U22CH029	24.00 24.00	8.46	8.76	BB	BB	AB	BC	AB	AB	AB	AB							
Semester	Student Name		ourse Code	CH301 T	CH301 P	CH303 T	CH305 T	CH307 P	HU301 T	MA363 T	CH321 T							
			Credit	4.00	1.00	4.00	4.00	1.00	4.00	3.00	3.00							
Admission Number	Reg- Earn- Credit Credit	SGPA	CGPA	MASS TRANSFER OPERATION S - II	MASS TRANSFER OPERATION S - II (PRAC.)	CHEMICAL ENGINEERI NG THERMODYN AMICS - II	CHEMICAL REACTION ENGINEERI NG - II	SEMINAR	PROFESSIO NAL ETHICS, ECONOMIC S AND BUSINESS MANAGEME NT	STOCHASTI C DIFFERENTI AL EQUATIONS (EIS-I)	BIOPROCES S ENGINEERI NG (CE-I)							
Semester: !	5 VELANI SANDEEP KARSH		6.30	ВС	ВС	СС	CD	ВС	ВС	CD	DD							

Ichchhanath, Surat-395007 (Gujarat), India

REPORT SHEET SHOWING RESULT OF CANDIDATES APPEARED AT B.TECH. III FIFTH SEMESTER CHEMICAL ENGINEERING AT REGULAR EXAM HELD DURING NOV/DEC 2024

					1	2	3	4	5	6	7	8	9	10	11	12	13	14	Remark
Semester	Student Name		С	Course Code	CH301 T	CH301 P	CH303 T	CH305 T	CH307 P	HU301 T	HU361 T	CH327 T		-			-		
				Credit	4.00	1.00	4.00	4.00	1.00	4.00	3.00	3.00							
Admission Number	_	arn- redit	SGPA	CGPA	MASS TRANSFER OPERATION S - II	MASS TRANSFER OPERATION S - II (PRAC.)	CHEMICAL ENGINEERI NG THERMODYN AMICS - II	CHEMICAL REACTION ENGINEERI NG - II	SEMINAR	PROFESSIO NAL ETHICS, ECONOMIC S AND BUSINESS MANAGEME NT	MARKETING MANAGEME NT (EIS-I)	INTRODUCT ION OF ELECTROCH EMISTRY (CE-I)							
Semester :	5 PRASAD VIVEK B	HRIGUNA	ATH		BB	AB	AB	ВС	AB	AB	BB	BB							
U22CH031	24.00 2	24.00	8.25	8.44		70	70	ВО	AD	\ \D									!
Semester	Student Name	•	С	Course Code	CH301 T	CH301 P	CH303 T	CH305 T	CH307 P	HU301 T	CH365 T	CH321 T							
				Credit	4.00	1.00	4.00	4.00	1.00	4.00	3.00	3.00							
Admission Number	Credit C	redit		CGPA	MASS TRANSFER OPERATION S - II	MASS TRANSFER OPERATION S - II (PRAC.)	CHEMICAL ENGINEERI NG THERMODYN AMICS - II	CHEMICAL REACTION ENGINEERI NG - II	SEMINAR	PROFESSIO NAL ETHICS, ECONOMIC S AND BUSINESS MANAGEME NT	FUELS AND COMBUSTIO N (EIS-I)	BIOPROCES S ENGINEERI NG (CE-I)							
	5 RAMBHA KRISHN				ВС	ВВ	ВС	вс	AB	AB	AA	ВВ							
U22CH032		24.00		•	CU201 T	CH201 D	CU202 T	CU20E T	CU207 D	1111201 T	CUDGE T	CU227 T							
Semester	Student Name		C	Course Code	CH301 T	CH301 P	CH303 T	CH305 T	CH307 P	HU301 T	CH365 T	CH327 T							
Admission	Pog E	orn-		Credit	4.00	1.00 MASS	4.00	4.00	1.00	4.00	3.00	3.00 INTRODUCT							
Number	_	arn- redit	SGPA	CGPA	MASS TRANSFER OPERATION S - II	TRANSFER OPERATION S - II (PRAC.)	CHEMICAL ENGINEERI NG THERMODYN AMICS - II	CHEMICAL REACTION ENGINEERI NG - II	SEMINAR	PROFESSIO NAL ETHICS, ECONOMIC S AND BUSINESS MANAGEME NT	FUELS AND COMBUSTIO N (EIS-I)	ION OF ELECTROCH EMISTRY (CE-I)							
Semester :	5 PATEL DHVANIKU	JMARI JA	YANTIBI	HAI				_											
U22CH033	24.00 2	24 00 l	7 75	763	ВС	AB	BC	ВС	AB	AB	BB	BB							
Semester	Student Name	7.00		Course Code	CH301 T	CH301 P	CH303 T	CH305 T	CH307 P	HU301 T	MA361 T	CH327 T							
				Credit	4.00	1.00	4.00	4.00	1.00	4.00	3.00	3.00							
Admission Number	Reg- E. Credit C	redit		CGPA	MASS TRANSFER OPERATION S - II	MASS TRANSFER OPERATION	CHEMICAL ENGINEERI NG THERMODYN AMICS - II	CHEMICAL REACTION ENGINEERI NG - II	SEMINAR	PROFESSIO NAL ETHICS, ECONOMIC S AND BUSINESS MANAGEME NT	ADVANCED MATHEMATI CAL METHODS (EIS-I)	INTRODUCT ION OF ELECTROCH EMISTRY (CE-I)							
U22CH034	5 VATALIYA AMANI 24.00 2				ВС	ВС	ВС	ВВ	ВС	ВВ	ВВ	ВВ							

Ichchhanath, Surat-395007 (Gujarat), India

REPORT SHEET SHOWING RESULT OF CANDIDATES APPEARED AT B.TECH. III FIFTH SEMESTER CHEMICAL ENGINEERING AT REGULAR EXAM HELD DURING NOV/DEC 2024

				1	2	3	4	5	6	7	8	9	10	11	12	13	14	Remark
Semester	Student Name	(Course Code	CH301 T	CH301 P	CH303 T	CH305 T	CH307 P	HU301 T	CH365 T	CH321 T							
			Credit	4.00	1.00	4.00	4.00	1.00	4.00	3.00	3.00						I	
Admission Number	Reg- Earn- Credit Credit	SGPA	CGPA	MASS TRANSFER OPERATION S - II	MASS TRANSFER OPERATION S - II (PRAC.)	CHEMICAL ENGINEERI NG THERMODYN AMICS - II	CHEMICAL REACTION ENGINEERI NG - II	SEMINAR	PROFESSIO NAL ETHICS, ECONOMIC S AND BUSINESS MANAGEME NT	FUELS AND COMBUSTIO N (EIS-I)	BIOPROCES S ENGINEERI NG (CE-I)							
Semester :	5 RATHAVA RUTIKBHAI	RASANBHA	ΑI	BB	BB	СС	СС	BB	BB	СС	ВС						I	
U22CH035	24.00 24.00	0 6.96	6.87					00									<u> </u>	
Semester	Student Name	(Course Code	CH301 T	CH301 P	CH303 T	CH305 T	CH307 P	HU301 T	MA363 T	CH321 T							
			Credit	4.00	1.00	4.00	4.00	1.00	4.00	3.00	3.00						<u> </u>	
Admission Number	Reg- Earn- Credit Credit		CGPA	MASS TRANSFER OPERATION S - II	MASS TRANSFER OPERATION S - II (PRAC.)	CHEMICAL ENGINEERI NG THERMODYN AMICS - II	CHEMICAL REACTION ENGINEERI NG - II	SEMINAR	PROFESSIO NAL ETHICS, ECONOMIC S AND BUSINESS MANAGEME NT	STOCHASTI C DIFFERENTI AL EQUATIONS (EIS-I)	BIOPROCES S ENGINEERI NG (CE-I)							
Semester : U22CH036	5 DAFDA ASHISH VINOI 24.00 24.00	_	6.47	СС	ВВ	CC	СС	AB	ВВ	CD	DD							
Semester	Student Name		Course Code	CH301 T	CH301 P	CH303 T	CH305 T	CH307 P	HU301 T	PH363 T	CH327 T							+
			Credit	4.00	1.00	4.00	4.00	1.00	4.00	3.00	3.00							
Admission Number	Reg- Earn- Credit Credit	SGPA	CGPA	MASS TRANSFER OPERATION S - II	MASS TRANSFER OPERATION S - II (PRAC.)	CHEMICAL ENGINEERI NG THERMODYN AMICS - II	CHEMICAL REACTION ENGINEERI NG - II	SEMINAR	PROFESSIO NAL ETHICS, ECONOMIC S AND BUSINESS MANAGEME NT	SOLAR CELL TECHNOLO GIES (EIS-I)	INTRODUCT ION OF ELECTROCH EMISTRY (CE-I)							
Semester :	5 VARMA PANKAJ HARIS	SHCHANDR.	A				D0				DD							
U22CH038	3 24.00 24.00	0 7.92	8.21	BB	BB	ВС	BC	ВС	AB	AB	BB						I	
Semester	Student Name		Course Code	CH301 T	CH301 P	CH303 T	CH305 T	CH307 P	HU301 T	MA361 T	CH321 T							
			Credit	4.00	1.00	4.00	4.00	1.00	4.00	3.00	3.00						·	
Admission Number	Reg- Earn- Credit Credit		CGPA	MASS TRANSFER OPERATION S - II	MASS TRANSFER OPERATION S - II (PRAC.)	CHEMICAL ENGINEERI NG THERMODYN AMICS - II	CHEMICAL REACTION ENGINEERI NG - II	SEMINAR	PROFESSIO NAL ETHICS, ECONOMIC S AND BUSINESS MANAGEME NT	ADVANCED MATHEMATI CAL METHODS (EIS-I)	BIOPROCES S ENGINEERI NG (CE-I)							
Semester : U22CH039	5 SUTHAR BHAGIRATH 24.00 24.00		6.89	ВС	BB	CD	СС	ВС	AB	СС	ВС							

Page 8 of 26

Ichchhanath, Surat-395007 (Gujarat), India

REPORT SHEET SHOWING RESULT OF CANDIDATES APPEARED AT B.TECH. III FIFTH SEMESTER CHEMICAL ENGINEERING AT REGULAR EXAM HELD DURING NOV/DEC 2024

			1	2	3	4	5	6	7	8	9	10	11	12	13	14	Remark
Semester	Student Name	Course Code	CH301 T	CH301 P	CH303 T	CH305 T	CH307 P	HU301 T	CY361 T	CH321 T							
		Credit	4.00	1.00	4.00	4.00	1.00	4.00	3.00	3.00							
Admission Number	Reg- Earn- Credit Credit	SGPA CGPA	MASS TRANSFER OPERATION S - II	MASS TRANSFER OPERATION S - II (PRAC.)	CHEMICAL ENGINEERI NG THERMODYN AMICS - II	CHEMICAL REACTION ENGINEERI NG - II	SEMINAR	PROFESSIO NAL ETHICS, ECONOMIC S AND BUSINESS MANAGEME NT	CHEMISTRY OF ENGINEERI NG MATERIALS (EIS-I)	BIOPROCES S ENGINEERI NG (CE-I)							
Semester:	5 NATHANI SAI GOPI									DO							
U22CH040	24.00 24.00	7.21 6.81	ВС	BB	ВС	CC	BB	BB	BB	ВС							
Semester	Student Name	Course Code	CH301 T	CH301 P	CH303 T	CH305 T	CH307 P	HU301 T	MA361 T	CH321 T							
		Credit	4.00	1.00	4.00	4.00	1.00	4.00	3.00	3.00							
Admission Number	Reg- Earn- Credit Credit	SGPA CGPA	MASS TRANSFER OPERATION S - II	MASS TRANSFER OPERATION S - II (PRAC.)	CHEMICAL ENGINEERI NG THERMODYN AMICS - II	CHEMICAL REACTION ENGINEERI NG - II	SEMINAR	PROFESSIO NAL ETHICS, ECONOMIC S AND BUSINESS MANAGEME NT	ADVANCED MATHEMATI CAL METHODS (EIS-I)	BIOPROCES S ENGINEERI NG (CE-I)							
Semester:	5 DETROJA DEEPKUMAR RA	JESHBHAI	DC.	AD	00	ВС	DD	DD	DD	ВС							
U22CH041	24.00 24.00	7.25 7.18	ВС	AB	CC	ВС	BB	BB	BB	ВС							
Semester	Student Name	Course Code	CH301 T	CH301 P	CH303 T	CH305 T	CH307 P	HU301 T	MA361 T	CH327 T							
		Credit	4.00	1.00	4.00	4.00	1.00	4.00	3.00	3.00							
Admission Number	Reg- Earn- Credit Credit	SGPA CGPA	MASS TRANSFER OPERATION S - II	MASS TRANSFER OPERATION S - II (PRAC.)	CHEMICAL ENGINEERI NG THERMODYN AMICS - II	CHEMICAL REACTION ENGINEERI NG - II	SEMINAR	PROFESSIO NAL ETHICS, ECONOMIC S AND BUSINESS MANAGEME NT	ADVANCED MATHEMATI CAL METHODS (EIS-I)	INTRODUCT ION OF ELECTROCH EMISTRY (CE-I)							
Semester:	5 PARMAR CHRISH RAKESH	IKUMAR	55	4.5	D.0	DD		4.5	D.D.	ΛΛ							
U22CH042	24.00 24.00	8.25 7.96	BB	AB	ВС	BB	ВС	AB	BB	AA							
Semester	Student Name	Course Code	CH301 T	CH301 P	CH303 T	CH305 T	CH307 P	HU301 T	HU361 T	CH327 T							
		Credit	4.00	1.00	4.00	4.00	1.00	4.00	3.00	3.00							
Admission Number	Credit Credit	SGPA CGPA	MASS TRANSFER OPERATION S - II	MASS TRANSFER OPERATION S - II (PRAC.)	CHEMICAL ENGINEERI	CHEMICAL REACTION ENGINEERI NG - II	SEMINAR	PROFESSIO NAL ETHICS, ECONOMIC S AND BUSINESS MANAGEME NT	MARKETING MANAGEME NT (EIS-I)	INTRODUCT ION OF ELECTROCH EMISTRY (CE-I)							
Semester : !	5 PATEL GAUTAMKUMAR RA		АВ	AB	AA	BB	АВ	ВВ	ВВ	AB							
	5 ANSHIKA PATTNAIK	·	ВС	AB	СС	СС	BB	AA	AB	АВ							

Ichchhanath, Surat-395007 (Gujarat), India

REPORT SHEET SHOWING RESULT OF CANDIDATES APPEARED AT B.TECH. III FIFTH SEMESTER CHEMICAL ENGINEERING AT REGULAR EXAM HELD DURING NOV/DEC 2024

				1	2	3	4	5	6	7	8	9	10	11	12	13	14	Remark
Semester	Student Name	(Course Code	CH301 T	CH301 P	CH303 T	CH305 T	CH307 P	HU301 T	PH361 T	CH327 T							
			Credit	4.00	1.00	4.00	4.00	1.00	4.00	3.00	3.00							
Admission Number	Reg- Earn- Credit Credit	SGPA	CGPA	MASS TRANSFER OPERATION S - II	MASS TRANSFER OPERATION S - II (PRAC.)	CHEMICAL ENGINEERI NG THERMODYN AMICS - II	CHEMICAL REACTION ENGINEERI NG - II	SEMINAR	PROFESSIO NAL ETHICS, ECONOMIC S AND BUSINESS MANAGEME NT	BASICS OF ASTRONOMY AND ASTROPHYS ICS (EIS-I)	ELECTROCH							
Semester:	5 LOKESH KUMAR			DD	DD	DD	DD	DD	DD	DD	BB							
U22CH045	24.00 24.00	8.00	8.63	BB	BB	BB	BB	BB	BB	BB	DD							
Semester	Student Name	•	Course Code	CH301 T	CH301 P	CH303 T	CH305 T	CH307 P	HU301 T	CH365 T	CH321 T							
			Credit	4.00	1.00	4.00	4.00	1.00	4.00	3.00	3.00							
Admission Number	Reg- Earn- Credit Credit	SGPA	CGPA	MASS TRANSFER OPERATION S - II	MASS TRANSFER OPERATION S - II (PRAC.)	CHEMICAL ENGINEERI NG THERMODYN AMICS - II	CHEMICAL REACTION ENGINEERI NG - II	SEMINAR	PROFESSIO NAL ETHICS, ECONOMIC S AND BUSINESS MANAGEME NT	FUELS AND COMBUSTIO N (EIS-I)	BIOPROCES S ENGINEERI NG (CE-I)							
	5 SIDDHARTH SINGH		1	ВС	AB	CD	СС	AA	AA	BB	АВ							
U22CH046		•	•	CH301 T	CH301 P	CH303 T	CH305 T	CH307 P	HU301 T	ME365 T	CH321 T							
Semester	Student Name		Course Code															
Admission Number	Reg- Earn- Credit Credit	SGPA	Credit CGPA	4.00 MASS TRANSFER OPERATION S - II	MASS TRANSFER OPERATION S - II (PRAC.)	4.00 CHEMICAL ENGINEERI NG THERMODYN AMICS - II	4.00 CHEMICAL REACTION ENGINEERI NG - II	1.00 SEMINAR	PROFESSIO NAL ETHICS, ECONOMIC S AND BUSINESS MANAGEME NT	MECHATRO NICS (EIS-I)								
Semester:	5 BHATIA HARSH SURESH				DD	DD	CD	DC.	DD	DC.	CD							BACKLOG:
U22CH047	24.00 20.00	4.96	5.62	FF	BB	DD	CD	ВС	BB	BC								CREDIT(S)
Semester	Student Name		Course Code	CH301 T	CH301 P	CH303 T	CH305 T	CH307 P	HU301 T	CH365 T	CH327 T							
			Credit	4.00	1.00	4.00	4.00	1.00	4.00	3.00	3.00							
Admission Number	Reg- Earn- Credit Credit		CGPA	MASS TRANSFER OPERATION S - II	MASS TRANSFER OPERATION S - II (PRAC.)	CHEMICAL ENGINEERI	CHEMICAL REACTION ENGINEERI NG - II	SEMINAR	PROFESSIO NAL ETHICS, ECONOMIC S AND BUSINESS MANAGEME NT	FUELS AND COMBUSTIO N (EIS-I)	INTRODUCT ION OF ELECTROCH EMISTRY (CE-I)							
Semester: 5	5 PANKHANIYA DIVYESH J 24.00 24.00			СС	AB	CC	СС	ВВ	ВВ	ВС	ВВ							

Ichchhanath, Surat-395007 (Gujarat), India

REPORT SHEET SHOWING RESULT OF CANDIDATES APPEARED AT B.TECH. III FIFTH SEMESTER CHEMICAL ENGINEERING AT REGULAR EXAM HELD DURING NOV/DEC 2024

					1	2	3	4	5	6	7	8	9	10	11	12	13	14	Remark
Semester	Student Name	e	C	Course Code	CH301 T	CH301 P	CH303 T	CH305 T	CH307 P	HU301 T	PH363 T	CH327 T							
				Credit	4.00	1.00	4.00	4.00	1.00	4.00	3.00	3.00							
Admission Number	Reg- Credit	Earn- Credit	SGPA	CGPA	MASS TRANSFER OPERATION S - II	MASS TRANSFER OPERATION S - II (PRAC.)	CHEMICAL ENGINEERI NG THERMODYN AMICS - II	CHEMICAL REACTION ENGINEERI NG - II	SEMINAR	PROFESSIO NAL ETHICS, ECONOMIC S AND BUSINESS MANAGEME NT	SOLAR CELL TECHNOLO GIES (EIS-I)	INTRODUCT ION OF							
Semester :	5 PRAJAPATI PRI	YANSU RA	AJENDRA	3HAI	BB	AB	AB	BB	ВВ	AB	AB	AB							
U22CH049	24.00	24.00	8.63	8.91		AD	AD	טט	DD	AB	AD	AD							
Semester	Student Nam		•	Course Code	CH301 T	CH301 P	CH303 T	CH305 T	CH307 P	HU301 T	HU361 T	CH327 T							
				Credit	4.00	1.00	4.00	4.00	1.00	4.00	3.00	3.00							
Admission Number	Reg- Credit	Earn- Credit	SGPA	CGPA	MASS TRANSFER OPERATION S - II	MASS TRANSFER OPERATION S - II (PRAC.)	CHEMICAL ENGINEERI NG THERMODYN AMICS - II	CHEMICAL REACTION ENGINEERI NG - II	SEMINAR	PROFESSIO NAL ETHICS, ECONOMIC S AND BUSINESS MANAGEME NT	MARKETING MANAGEME NT (EIS-I)	INTRODUCT ION OF ELECTROCH EMISTRY (CE-I)							
Semester : U22CH050	5 PARIDA SOUM) 24.00			8.42	BB	AB	СС	СС	AB	ВВ	ВВ	BB							
Semester	Student Name		•	Course Code	CH301 T	CH301 P	CH303 T	CH305 T	CH307 P	HU301 T	PH363 T	CH327 T							
				Credit	4.00	1.00	4.00	4.00	1.00	4.00	3.00	3.00							
Admission Number	Reg- Credit	Earn- Credit	SGPA	CGPA	MASS TRANSFER OPERATION S - II	MASS TRANSFER OPERATION S - II (PRAC.)	CHEMICAL ENGINEERI NG THERMODYN AMICS - II	CHEMICAL REACTION ENGINEERI NG - II	SEMINAR	PROFESSIO NAL ETHICS, ECONOMIC S AND BUSINESS MANAGEME NT	SOLAR CELL TECHNOLO GIES (EIS-I)	INTRODUCT ION OF							
Semester :	5 ARCHIT KULSH	IRESTHA																	
U22CH05	24.00	24.00	1 0 00	864	AB	AA	AB	BB	AB	AB	BB	AA							
Semester	Student Nam		•	Course Code	CH301 T	CH301 P	CH303 T	CH305 T	CH307 P	HU301 T	ME369 T	CH321 T							
				Credit	4.00	1.00	4.00	4.00	1.00	4.00	3.00	3.00							
Admission Number	Reg- Credit	Credit	SGPA	CGPA	MASS TRANSFER OPERATION S - II	MASS TRANSFER OPERATION	CHEMICAL ENGINEERI NG THERMODYN AMICS - II	CHEMICAL REACTION ENGINEERI NG - II	SEMINAR	PROFESSIO NAL ETHICS, ECONOMIC S AND BUSINESS MANAGEME NT	ENGINEERI NG ESTIMATION AND COSTING (EIS-I)	BIOPROCES S							
Semester :	5 RAHUL CHOUD	HARY			СС	BB	DD	DD	ВВ	BB	CD	СС							BACKLOG:
U22CH052	24.00	24.00	5.71	5.99															CREDIT(S)

Ichchhanath, Surat-395007 (Gujarat), India

					4			-1								1	
			1	2	3	4	5	6	7	8	9	10	11	12	13	14	Remark
Semester	Student Name	Course Code	CH301 T	CH301 P	CH303 T	CH305 T	CH307 P	HU301 T	CH365 T	CH321 T							
		Credit	4.00	1.00	4.00	4.00	1.00	4.00	3.00	3.00							
Admission Number	Reg- Earn- Credit Credit	SGPA CGPA	MASS TRANSFER OPERATION S - II	MASS TRANSFER OPERATION S - II (PRAC.)	CHEMICAL ENGINEERI NG THERMODYN AMICS - II	CHEMICAL REACTION ENGINEERI NG - II	SEMINAR	PROFESSIO NAL ETHICS, ECONOMIC S AND BUSINESS MANAGEME NT	FUELS AND COMBUSTIO N (EIS-I)	BIOPROCES S ENGINEERI NG (CE-I)							
Semester :	5 PRATHMESH VYAS		СС	AB	CD	СС	AB	AB	ВС	ВС							
U22CH053	24.00 24.00	6.83 7.13		,			, , ,	, .5									
Semester : U22CH054	5 YADAV ROHIT DINESHK		ВС	ВВ	CC	СС	ВС	AB	ВС	ВВ							
Semester	Student Name	Course Code	CH301 T	CH301 P	CH303 T	CH305 T	CH307 P	HU301 T	EE363 T	CH321 T							
		Credit	4.00	1.00	4.00	4.00	1.00	4.00	3.00	3.00							
Admission Number	Reg- Earn- Credit Credit	SGPA CGPA	MASS TRANSFER OPERATION S - II	MASS TRANSFER OPERATION S - II (PRAC.)	CHEMICAL ENGINEERI NG THERMODYN AMICS - II	CHEMICAL REACTION ENGINEERI NG - II	SEMINAR	PROFESSIO NAL ETHICS, ECONOMIC S AND BUSINESS MANAGEME NT	OPTIMIZATI ON METHODS (EIS-I)	BIOPROCES S ENGINEERI NG (CE-I)							
Semester :	5 PATEL UTKARSH MANOJ									0.0							BACKLOG:
U22CH055	24.00 17.00	3.92 5.46	FF	ВС	DD	CD	BB	BC	FF	CD							7 CREDIT(S)
Semester	Student Name	Course Code	CH301 T	CH301 P	CH303 T	CH305 T	CH307 P	HU301 T	CY361 T	CH321 T							
		Credit	4.00	1.00	4.00	4.00	1.00	4.00	3.00	3.00							
Admission Number	Reg- Earn- Credit Credit	SGPA CGPA	MASS TRANSFER OPERATION S - II	MASS TRANSFER OPERATION S - II (PRAC.)	CHEMICAL ENGINEERI NG THERMODYN AMICS - II	CHEMICAL REACTION ENGINEERI NG - II	SEMINAR	PROFESSIO NAL ETHICS, ECONOMIC S AND BUSINESS MANAGEME NT	CHEMISTRY OF ENGINEERI NG MATERIALS (EIS-I)	BIOPROCES S ENGINEERI NG (CE-I)							
	5 DEBANGANA BANERJEE		ВС	BB	DD	СС	BB	AB	AB	CD							
U22CH056 Semester	24.00 24.00 Student Name	6.75 6.34 Course Code	CH301 T	CH301 P	CH303 T	CH305 T	CH307 P	HU301 T	EC361 T	CH321 T							
Semester	Student Name	Course Code Credit	4.00	1.00	4.00	4.00	1.00	4.00	3.00	3.00							
Admission	Reg- Earn-		MASS	MASS	CHEMICAL	CHEMICAL	SEMINAR	PROFESSIO	SENSORS	BIOPROCES							
Number	Credit Credit	SGPA CGPA	TRANSFER OPERATION S - II	TRANSFER OPERATION S - II (PRAC.)	ENGINEERI	REACTION ENGINEERI	SLI MVIII	NAL ETHICS, ECONOMIC S AND BUSINESS MANAGEME NT	AND TRANSDUCE RS (EIS-I)	S							
Semester : U22CH057	5 AMAN CHANDEL 24.00 24.00	7.21 6.63	ВВ	ВС	СС	СС	ВВ	AB	ВВ	СС							

Ichchhanath, Surat-395007 (Gujarat), India

REPORT SHEET SHOWING RESULT OF CANDIDATES APPEARED AT B.TECH. III FIFTH SEMESTER CHEMICAL ENGINEERING AT REGULAR EXAM HELD DURING NOV/DEC 2024

			1	2	3	4	5	6	7	8	9	10	11	12	13	14	Remark
Semester	Student Name	Course Coa	- 	CH301 P	CH303 T	CH305 T	CH307 P	HU301 T	PH363 T	CH327 T							
		Cred	t 4.00	1.00	4.00	4.00	1.00	4.00	3.00	3.00							
Admission Number	Reg- Earn- Credit Credit	SGPA CGPA	MASS TRANSFER OPERATION S - II	MASS TRANSFER	CHEMICAL ENGINEERI	CHEMICAL REACTION ENGINEERI NG - II	SEMINAR	PROFESSIO NAL ETHICS, ECONOMIC S AND BUSINESS MANAGEME NT	SOLAR CELL TECHNOLO GIES (EIS-I)	INTRODUCT ION OF							
Semester :	5 ASHLOK KUMAR		BB	BB	AB	BB	AB	AB	AB	AA							
U22CH058	24.00 24.00	8.75 8.96			AD		AD	\ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \	7.5	, , , ,							!
Semester	Student Name	Course Cod	e CH301 T	CH301 P	CH303 T	CH305 T	CH307 P	HU301 T	CH365 T	CH327 T							
		Cred	t 4.00	1.00	4.00	4.00	1.00	4.00	3.00	3.00							
Admission Number	Reg- Earn- Credit Credit	SGPA CGPA	MASS TRANSFER OPERATION S - II	MASS TRANSFER OPERATION S - II (PRAC.)	CHEMICAL ENGINEERI NG THERMODYN AMICS - II	CHEMICAL REACTION ENGINEERI NG - II	SEMINAR	PROFESSIO NAL ETHICS, ECONOMIC S AND BUSINESS MANAGEME NT	FUELS AND COMBUSTIO N (EIS-I)	INTRODUCT ION OF ELECTROCH EMISTRY (CE-I)							
Semester : U22CH059	5 AMAN MADDHESHIYA	6.71 7.55	СС	ВВ	CD	ВС	ВВ	ВС	ВС	BB							
Semester	Student Name	Course Cod	e CH301 T	CH301 P	CH303 T	CH305 T	CH307 P	HU301 T	PH363 T	CH327 T							
		Cred	t 4.00	1.00	4.00	4.00	1.00	4.00	3.00	3.00							
Admission Number	Reg- Earn- Credit Credit	SGPA CGPA	MASS TRANSFER OPERATION S - II	MASS TRANSFER OPERATION S - II (PRAC.)	CHEMICAL ENGINEERI NG THERMODYN AMICS - II	CHEMICAL REACTION ENGINEERI NG - II	SEMINAR	PROFESSIO NAL ETHICS, ECONOMIC S AND BUSINESS MANAGEME NT	SOLAR CELL TECHNOLO GIES (EIS-I)	INTRODUCT ION OF ELECTROCH EMISTRY (CE-I)							
Semester :	5 CHAUDHARI SHREYA F	RAJENDRAKUMAR															-
U22CH060	24.00 24.00	8.50 8.88	BB	AB	AB	BB	AB	BB	AB	AB							1
Semester	Student Name	Course Coa	e CH301 T	CH301 P	CH303 T	CH305 T	CH307 P	HU301 T	ME369 T	CH327 T							
		Cred	1	1.00	4.00	4.00	1.00	4.00	3.00	3.00							
Admission Number	Reg- Earn- Credit Credit	SGPA CGPA	MASS TRANSFER OPERATION S - II	MASS TRANSFER	CHEMICAL ENGINEERI	CHEMICAL REACTION ENGINEERI	SEMINAR	PROFESSIO NAL ETHICS, ECONOMIC S AND BUSINESS MANAGEME NT	ENGINEERI NG ESTIMATION AND COSTING (EIS-I)	INTRODUCT ION OF							
Semester : U22CH061	5 POKIYA HARSH ALPESI	нвнаі 7.33 7.49	ВС	ВВ	CC	CC	ВВ	AB	АВ	ВС							

Ichchhanath, Surat-395007 (Gujarat), India

		1						1 -	_				1				
_			1	2	3	4	5	6	7	8	9	10	11	12	13	14	Remark
Semester	Student Name	Course Code	CH301 T	CH301 P	CH303 T	CH305 T	CH307 P	HU301 T	HS310 T	CH327 T							
		Credit	4.00	1.00	4.00	4.00	1.00	4.00	3.00	3.00							
Admission Number	Reg- Earn- Credit Credit	SGPA CGPA	MASS TRANSFER OPERATION S - II	MASS TRANSFER OPERATION S - II (PRAC.)	CHEMICAL ENGINEERI NG THERMODYN AMICS - II	CHEMICAL REACTION ENGINEERI NG - II	SEMINAR	PROFESSIO NAL ETHICS, ECONOMIC S AND BUSINESS MANAGEME NT	FOREIGN LANGUAGE COURSE IN GERMAN (EIS-I)	INTRODUCT ION OF ELECTROCH EMISTRY (CE-I)							
Semester :	5 AMAN SINGH		DD.	4.5	4.5	DD	4.5		4.5	ΔD							
U22CH062	24.00 24.00	8.83 9.36	BB	AB	AB	BB	AB	AA	AB	AB							
Semester : U22CH063	5 DARSHANA UMARIYA 24.00 24.00	7.88 7.92	BB	ВВ	AB	BB	ВВ	ВС	ВС	BB							
Semester	Student Name	Course Code	CH301 T	CH301 P	CH303 T	CH305 T	CH307 P	HU301 T	CH365 T	CH327 T							
		Credit	4.00	1.00	4.00	4.00	1.00	4.00	3.00	3.00							
Admission Number	Reg- Earn- Credit Credit	SGPA CGPA	MASS TRANSFER OPERATION S - II	MASS TRANSFER OPERATION S - II (PRAC.)	CHEMICAL ENGINEERI NG THERMODYN AMICS - II	CHEMICAL REACTION ENGINEERI NG - II	SEMINAR	PROFESSIO NAL ETHICS, ECONOMIC S AND BUSINESS MANAGEME NT	FUELS AND COMBUSTIO N (EIS-I)	INTRODUCT ION OF ELECTROCH EMISTRY (CE-I)							
Semester :	5 TANISHKA DESHMUKH		DD.			DO				ΔD							
U22CH064	24.00 24.00	9.04 8.53	BB	AA	AA	ВС	AA	AA	AA	AB							
Semester	Student Name	Course Code	CH301 T	CH301 P	CH303 T	CH305 T	CH307 P	HU301 T	PH361 T	CH327 T							
		Credit	4.00	1.00	4.00	4.00	1.00	4.00	3.00	3.00							
Admission Number	Reg- Earn- Credit Credit	SGPA CGPA	MASS TRANSFER OPERATION S - II	MASS TRANSFER OPERATION S - II (PRAC.)	CHEMICAL ENGINEERI NG THERMODYN AMICS - II	CHEMICAL REACTION ENGINEERI NG - II	SEMINAR	PROFESSIO NAL ETHICS, ECONOMIC S AND BUSINESS MANAGEME NT	BASICS OF ASTRONOMY AND ASTROPHYS ICS (EIS-I)	INTRODUCT ION OF ELECTROCH EMISTRY (CE-I)							
Semester : U22CH065	5 ANURADHA SINGH 24.00 24.00	771 942	ВВ	AB	ВС	ВС	ВВ	ВВ	ВВ	BB							
Semester	Student Name	Course Code	CH301 T	CH301 P	CH303 T	CH305 T	CH307 P	HU301 T	ME365 T	CH321 T							
		Credit	4.00	1.00	4.00	4.00	1.00	4.00	3.00	3.00							
Admission	Reg- Earn-	SGPA CGPA	MASS	MASS	CHEMICAL	CHEMICAL	SEMINAR	PROFESSIO		BIOPROCES							
Number	Credit Credit	SGPA CGPA	TRANSFER OPERATION S - II	TRANSFER OPERATION S - II (PRAC.)	ENGINEERI NG THERMODYN AMICS - II	REACTION ENGINEERI		NAL ETHICS, ECONOMIC S AND BUSINESS MANAGEME NT	NICS (EIS-I)								
Semester : U22CH066	5 SATYAM SINGH 24.00 17.00	4.00 5.16	FF	CC	DD	CD	ВС	ВВ	CD	FF							BACKLOG: 19 CREDIT(S)

Ichchhanath, Surat-395007 (Gujarat), India

REPORT SHEET SHOWING RESULT OF CANDIDATES APPEARED AT B.TECH. III FIFTH SEMESTER CHEMICAL ENGINEERING AT REGULAR EXAM HELD DURING NOV/DEC 2024

				1	2	3	4	5	6	7	8	9	10	11	12	13	14	Remark
Semester	Student Name		Course Code	CH301 T	CH301 P	CH303 T	CH305 T	CH307 P	HU301 T	CH365 T	CH321 T						 I	
			Credit	4.00	1.00	4.00	4.00	1.00	4.00	3.00	3.00							
Admission Number	Reg- Earn- Credit Credi	SGPA	CGPA	MASS TRANSFER OPERATION S - II	MASS TRANSFER OPERATION S - II (PRAC.)	CHEMICAL ENGINEERI NG THERMODYN AMICS - II	CHEMICAL REACTION ENGINEERI NG - II	SEMINAR	PROFESSIO NAL ETHICS, ECONOMIC S AND BUSINESS MANAGEME NT	FUELS AND COMBUSTIO N (EIS-I)	BIOPROCES S ENGINEERI NG (CE-I)							
Semester :	5 JIGNESH MEENA			ВС	BB	CD	ВС	ВС	BB	СС	СС						I	
U22CH067	24.00 24.0	00 6.63	6.56			OB	50	ВО									i	
Semester	Student Name	•	Course Code	CH301 T	CH301 P	CH303 T	CH305 T	CH307 P	HU301 T	MA361 T	CH321 T							
			Credit	4.00	1.00	4.00	4.00	1.00	4.00	3.00	3.00							
Admission Number	Reg- Earn- Credit Credi	t SGPA	CGPA	MASS TRANSFER OPERATION S - II	MASS TRANSFER OPERATION S - II (PRAC.)	CHEMICAL ENGINEERI NG THERMODYN AMICS - II	CHEMICAL REACTION ENGINEERI NG - II	SEMINAR	PROFESSIO NAL ETHICS, ECONOMIC S AND BUSINESS MANAGEME NT	ADVANCED MATHEMATI CAL METHODS (EIS-I)	BIOPROCES S ENGINEERI NG (CE-I)							
Semester : U22CH068	5 PAL ANUJ JITENDRA 24.00 24.0		711	ВС	BB	BB	ВС	BB	СС	AB	ВВ						I	
Semester	Student Name		Course Code	CH301 T	CH301 P	CH303 T	CH305 T	CH307 P	HU301 T	CE377 T	CH327 T							
			Credit	4.00	1.00	4.00	4.00	1.00	4.00	3.00	3.00						 I	
Admission Number	Reg- Earn- Credit Credi	SGPA	CGPA	MASS TRANSFER OPERATION S - II	MASS TRANSFER OPERATION S - II (PRAC.)	CHEMICAL ENGINEERI NG THERMODYN AMICS - II	CHEMICAL REACTION ENGINEERI NG - II	SEMINAR	PROFESSIO NAL ETHICS, ECONOMIC S AND BUSINESS MANAGEME NT	INTRODUCT ION TO EARTHQUAK E ENGINEERI NG (EIS-I)	INTRODUCT ION OF							
Semester :	5 VAIBHAV																	
U22CH069	24.00 24.0	nn 742	769	BB	BC	CC	CC	BB	BB	AB	BB						I	
Semester	Student Name		Course Code	CH301 T	CH301 P	CH303 T	CH305 T	CH307 P	HU301 T	CS361 T	CH327 T						 I	
			Credit	4.00	1.00	4.00	4.00	1.00	4.00	3.00	3.00							
Admission Number	Reg- Earn- Credit Credi		CGPA	MASS TRANSFER OPERATION S - II	MASS TRANSFER OPERATION S - II (PRAC.)	CHEMICAL ENGINEERI	CHEMICAL REACTION ENGINEERI NG - II	SEMINAR	PROFESSIO NAL ETHICS, ECONOMIC S AND BUSINESS MANAGEME NT	OBJECT ORIENTED TECHNOLO GY (EIS-I)	INTRODUCT ION OF ELECTROCH EMISTRY (CE-I)							
U22CH070			7.59	ВС	AB	CC	CC	ВВ	ВВ	ВС	AB						L	

Ichchhanath, Surat-395007 (Gujarat), India

			1	2	3	4	5	6	7	8	9	10	11	12	13	14	Remark
Semester	Student Name	Course Code	CH301 T	CH301 P	CH303 T	CH305 T	CH307 P	HU301 T	HU361 T	CH327 T							
		Credit	4.00	1.00	4.00	4.00	1.00	4.00	3.00	3.00							
Admission Number	Reg- Earn- Credit Credit	SGPA CGPA	MASS TRANSFER OPERATION S - II	MASS TRANSFER OPERATION S - II (PRAC.)	CHEMICAL ENGINEERI NG THERMODYN AMICS - II	CHEMICAL REACTION ENGINEERI NG - II	SEMINAR	PROFESSIO NAL ETHICS, ECONOMIC S AND BUSINESS MANAGEME NT	MARKETING MANAGEME NT (EIS-I)	INTRODUCT ION OF ELECTROCH EMISTRY (CE-I)							
Semester:	5 SHLOK AGRAWAL			DD.	00	DO	4 D	4.0	4.5	BB							
U22CH071	24.00 24.00	7.83 7.80	BB	BB	CC	BC	AB	AB	AB	DD							
Semester	Student Name	Course Code	CH301 T	CH301 P	CH303 T	CH305 T	CH307 P	HU301 T	CH365 T	CH327 T							
		Credit	4.00	1.00	4.00	4.00	1.00	4.00	3.00	3.00							
Admission Number	Reg- Earn- Credit Credit	SGPA CGPA	MASS TRANSFER OPERATION S - II	MASS TRANSFER OPERATION S - II (PRAC.)	CHEMICAL ENGINEERI NG THERMODYN AMICS - II	CHEMICAL REACTION ENGINEERI NG - II	SEMINAR	PROFESSIO NAL ETHICS, ECONOMIC S AND BUSINESS MANAGEME NT	FUELS AND COMBUSTIO N (EIS-I)	INTRODUCT ION OF ELECTROCH EMISTRY (CE-I)							
Semester:	5 SALADI LAKSHMI DURGA		ВС	AB	ВС	CC	BB	AB	BB	BB							
U22CH072	24.00 24.00	7.54 7.79	ВС	AD	ВС		DD	AD	DD								
Semester	Student Name	Course Code	CH301 T	CH301 P	CH303 T	CH305 T	CH307 P	HU301 T	HU361 T	CH327 T							
		Credit	4.00	1.00	4.00	4.00	1.00	4.00	3.00	3.00							
Admission Number	Reg- Earn- Credit Credit	SGPA CGPA	MASS TRANSFER OPERATION S - II	MASS TRANSFER OPERATION S - II (PRAC.)	CHEMICAL ENGINEERI NG THERMODYN AMICS - II	CHEMICAL REACTION ENGINEERI NG - II	SEMINAR	PROFESSIO NAL ETHICS, ECONOMIC S AND BUSINESS MANAGEME NT	MARKETING MANAGEME NT (EIS-I)	INTRODUCT ION OF ELECTROCH EMISTRY (CE-I)							
Semester:	5 HARISH KHANDELWAL		00	AD	00	CC	DD	DD	DD	ВВ							
U22CH073	24.00 24.00	7.04 7.67	CC	AB	CC	CC	BB	BB	BB								
Semester	Student Name	Course Code	CH301 T	CH301 P	CH303 T	CH305 T	CH307 P	HU301 T	PH363 T	CH327 T							
		Credit	4.00	1.00	4.00	4.00	1.00	4.00	3.00	3.00							
Admission Number	Credit Credit	SGPA CGPA	MASS TRANSFER OPERATION S - II	MASS TRANSFER OPERATION S - II (PRAC.)	CHEMICAL ENGINEERI NG THERMODYN AMICS - II	CHEMICAL REACTION ENGINEERI NG - II	SEMINAR	NAL	SOLAR CELL TECHNOLO GIES (EIS-I)	INTRODUCT ION OF ELECTROCH EMISTRY (CE-I)							
Semester: 5	5 BHARODIYA SAHIL ISHWA 24.00 24.00 		ВС	AB	BB	СС	AA	ВВ	BB	ВВ							
Semester: 5	5 JIGNESH RAVINDRA CHAU		ВВ	AB	ВС	ВВ	AB	AB	АВ	АВ							

Ichchhanath, Surat-395007 (Gujarat), India

REPORT SHEET SHOWING RESULT OF CANDIDATES APPEARED AT B.TECH. III FIFTH SEMESTER CHEMICAL ENGINEERING AT REGULAR EXAM HELD DURING NOV/DEC 2024

				1	2	3	4	5	6	7	8	9	10	11	12	13	14	Remark
Semester	Student Name	Co	ourse Code	CH301 T	CH301 P	CH303 T	CH305 T	CH307 P	HU301 T	CE371 T	CH327 T	<i>y</i>	10	11	12	13	1 17	Remark
	Stadent Hame	CC	Credit	4.00	1.00	4.00	4.00	1.00	4.00	3.00	3.00							
Admission Number	Reg- Earn- Credit Credit	SGPA	CGPA	MASS TRANSFER OPERATION S - II	MASS TRANSFER OPERATION S - II (PRAC.)	CHEMICAL ENGINEERI NG THERMODYN AMICS - II	CHEMICAL REACTION ENGINEERI NG - II	SEMINAR	PROFESSIO NAL ETHICS, ECONOMIC S AND BUSINESS MANAGEME	FUNDAMENT ALS OF GIS AND REMOTE SENSING (EIS-I)	INTRODUCT ION OF ELECTROCH EMISTRY (CE-I)							
Semester : 5	5 PRAVESH JAIN								NT									
U22CH076	24.00 24.00	7.29	7.40	ВС	BC	CC	CC	ВВ	AB	BB	BB							
Semester	Student Name		ourse Code	CH301 T	CH301 P	CH303 T	CH305 T	CH307 P	HU301 T	CH365 T	CH327 T							
			Credit	4.00	1.00	4.00	4.00	1.00	4.00	3.00	3.00							
Admission Number	Reg- Earn- Credit Credit	SGPA	CGPA	MASS TRANSFER OPERATION S - II	MASS TRANSFER OPERATION S - II (PRAC.)	CHEMICAL ENGINEERI NG THERMODYN AMICS - II	CHEMICAL REACTION ENGINEERI NG - II	SEMINAR	PROFESSIO NAL ETHICS, ECONOMIC S AND BUSINESS MANAGEME NT	FUELS AND COMBUSTIO N (EIS-I)	INTRODUCT ION OF ELECTROCH EMISTRY (CE-I)							
Semester: 5	7 RITUL RAVI MISHRA 24.00 24.00	9.79	9.87	AB	AB	AA	AA	AA	AA	AA	AA							
Semester	Student Name		ourse Code	CH301 T	CH301 P	CH303 T	CH305 T	CH307 P	HU301 T	PH361 T	CH327 T							
			Credit	4.00	1.00	4.00	4.00	1.00	4.00	3.00	3.00							
Admission Number	Reg- Earn- Credit Credit	SGPA	CGPA	MASS TRANSFER OPERATION S - II	MASS TRANSFER OPERATION S - II (PRAC.)	CHEMICAL ENGINEERI NG THERMODYN AMICS - II	CHEMICAL REACTION ENGINEERI NG - II	SEMINAR	PROFESSIO NAL ETHICS, ECONOMIC S AND BUSINESS MANAGEME NT	BASICS OF ASTRONOMY AND ASTROPHYS ICS (EIS-I)	INTRODUCT ION OF ELECTROCH EMISTRY (CE-I)							
Semester : 5	5 KAGADE PRITI DILIP			4.5		4.5	00	4.5		55	AD							
U22CH078	24.00 24.00	8.25	8.47	AB	AA	AB	CC	AB	BB	BB	AB							
Semester	Student Name		ourse Code	CH301 T	CH301 P	CH303 T	CH305 T	CH307 P	HU301 T	CE377 T	CH327 T							
			Credit	4.00	1.00	4.00	4.00	1.00	4.00	3.00	3.00							
Admission Number	Reg- Earn- Credit Credit	SGPA	CGPA	MASS TRANSFER OPERATION S - II	MASS TRANSFER OPERATION S - II (PRAC.)	CHEMICAL ENGINEERI NG THERMODYN AMICS - II	CHEMICAL REACTION ENGINEERI NG - II	SEMINAR	PROFESSIO NAL ETHICS, ECONOMIC S AND BUSINESS MANAGEME NT	INTRODUCT ION TO EARTHQUAK E ENGINEERI NG (EIS-I)	INTRODUCT ION OF ELECTROCH EMISTRY (CE-I)							
Semester: 5	5 KRISH ASHOKBHAI VISA 24.00 24.00		8.13	ВС	AB	AB	ВВ	АВ	ВВ	ВС	BB							

Ichchhanath, Surat-395007 (Gujarat), India

REPORT SHEET SHOWING RESULT OF CANDIDATES APPEARED AT B.TECH. III FIFTH SEMESTER CHEMICAL ENGINEERING AT REGULAR EXAM HELD DURING NOV/DEC 2024

				1	2	3	4	5	6	7	8	9	10	11	12	13	14	Remark
Semester	Student Name		Course Code	CH301 T	CH301 P	CH303 T	CH305 T	CH307 P	HU301 T	CS361 T	CH321 T	·	-					
			Credit	4.00	1.00	4.00	4.00	1.00	4.00	3.00	3.00							
Admission Number	Reg- Earn Credit Cred	SUPA	CGPA	MASS TRANSFER OPERATION S - II	MASS TRANSFER OPERATION S - II (PRAC.)	CHEMICAL ENGINEERI NG THERMODYN AMICS - II	CHEMICAL REACTION ENGINEERI NG - II	SEMINAR	PROFESSIO NAL ETHICS, ECONOMIC S AND BUSINESS MANAGEME NT	OBJECT ORIENTED TECHNOLO GY (EIS-I)	BIOPROCES S ENGINEERI NG (CE-I)							
Semester :	5 HARITASHVA ASHIS	H PANDYA		ВС	BB	СС	СС	BB	BB	ВС	AB							
U22CH080	24.00 24.0	00 7.17	7.24					00			,							
Semester	Student Name		Course Code	CH301 T	CH301 P	CH303 T	CH305 T	CH307 P	HU301 T	CH365 T	CH321 T							
			Credit	4.00	1.00	4.00	4.00	1.00	4.00	3.00	3.00							
Admission Number	Reg- Earn Credit Cred		CGPA	MASS TRANSFER OPERATION S - II	MASS TRANSFER OPERATION S - II (PRAC.)	CHEMICAL ENGINEERI NG THERMODYN AMICS - II	CHEMICAL REACTION ENGINEERI NG - II	SEMINAR	PROFESSIO NAL ETHICS, ECONOMIC S AND BUSINESS MANAGEME NT	FUELS AND COMBUSTIO N (EIS-I)	BIOPROCES S ENGINEERI NG (CE-I)							
Semester :	5 GULSHAN VERMA			BB	BB	AA	СС	AB	BB	BB	AB							
U22CH081	24.00 24.0	00 8.17	7.39	BB	DD	AA		AD	ВВ	DD	Ab							
Semester	Student Name		Course Code	CH301 T	CH301 P	CH303 T	CH305 T	CH307 P	HU301 T	CS361 T	CH321 T							
			Credit	4.00	1.00	4.00	4.00	1.00	4.00	3.00	3.00							
Admission Number	Reg- Earn Credit Cred	SUPA	CGPA	MASS TRANSFER OPERATION S - II	MASS TRANSFER OPERATION S - II (PRAC.)	CHEMICAL ENGINEERI NG THERMODYN AMICS - II	CHEMICAL REACTION ENGINEERI NG - II	SEMINAR	PROFESSIO NAL ETHICS, ECONOMIC S AND BUSINESS MANAGEME NT	OBJECT ORIENTED TECHNOLO GY (EIS-I)	BIOPROCES S ENGINEERI NG (CE-I)							
Semester :	5 SINGH RAVISHKUMA	AR RAJESH		DO.	D0	0.0	00	D.D.	DD	00	DD							
U22CH082	24.00 24.0	00 6.21	7.09	ВС	ВС	CD	CC	BB	BB	CC	DD							
Semester	Student Name		Course Code	CH301 T	CH301 P	CH303 T	CH305 T	CH307 P	HU301 T	EC361 T	CH321 T							
			Credit	4.00	1.00	4.00	4.00	1.00	4.00	3.00	3.00							
Admission Number	Reg- Earn- Credit Cred	it SGFA	CGPA	MASS TRANSFER OPERATION S - II	MASS TRANSFER OPERATION S - II (PRAC.)	CHEMICAL ENGINEERI NG THERMODYN AMICS - II	CHEMICAL REACTION ENGINEERI NG - II	SEMINAR	PROFESSIO NAL ETHICS, ECONOMIC S AND BUSINESS MANAGEME NT	SENSORS AND TRANSDUCE RS (EIS-I)	BIOPROCES S ENGINEERI NG (CE-I)							
Semester : U22CH083	5 MUKESH KUMAR CHO		7.02	СС	ВВ	ВС	ВС	ВВ	CC	АВ	CC							

Ichchhanath, Surat-395007 (Gujarat), India

				1	2	3	4	5	6	7	8	9	10	11	12	13	14	Remark
Semester	Student Name	(Course Code	CH301 T	CH301 P	CH303 T	CH305 T	CH307 P	HU301 T	CY361 T	CH321 T							
			Credit	4.00	1.00	4.00	4.00	1.00	4.00	3.00	3.00							
Admission Number	Reg- Earn- Credit Credit	SGPA	CGPA	MASS TRANSFER OPERATION S - II	MASS TRANSFER OPERATION S - II (PRAC.)	CHEMICAL ENGINEERI NG THERMODYN AMICS - II	CHEMICAL REACTION ENGINEERI NG - II	SEMINAR	PROFESSIO NAL ETHICS, ECONOMIC S AND BUSINESS MANAGEME NT	CHEMISTRY OF ENGINEERI NG MATERIALS (EIS-I)	BIOPROCES S ENGINEERI NG (CE-I)							
	5 PARMAR MAITRIKUMARI			ВС	AA	AB	ВВ	AA	AB	AA	AA							
U22CH084 Semester	24.00 24.00 Student Name	•	8.14 Course Code	CH301 T	CH301 P	CH303 T	CH305 T	CH307 P	HU301 T	ME365 T	CH321 T							
Semester	Stadent Name	,	Credit	4.00	1.00	4.00	4.00	1.00	4.00	3.00	3.00							
Admission Number	Reg- Earn- Credit Credit	SGPA	CGPA	MASS TRANSFER OPERATION S - II	MASS TRANSFER OPERATION S - II (PRAC.)	CHEMICAL ENGINEERI NG THERMODYN AMICS - II	CHEMICAL REACTION ENGINEERI NG - II	SEMINAR	PROFESSIO NAL ETHICS, ECONOMIC S AND BUSINESS MANAGEME NT	MECHATRO NICS (EIS-I)	BIOPROCES							
Semester:	5 MACHHAKA BHARATH 24.00 24.00	l 6.58	5.79	CC	AB	CD	ВС	BB	СС	ВВ	ВС							BACKLOG: 4 CREDIT(S)
Semester	Student Name		Course Code	CH301 T	CH301 P	CH303 T	CH305 T	CH307 P	HU301 T	EE363 T	CH321 T							
			Credit	4.00	1.00	4.00	4.00	1.00	4.00	3.00	3.00							
Admission Number	Reg- Earn- Credit Credit	SGPA		MASS TRANSFER OPERATION S - II	MASS TRANSFER OPERATION S - II (PRAC.)	CHEMICAL ENGINEERI NG THERMODYN AMICS - II	CHEMICAL REACTION ENGINEERI NG - II	SEMINAR	PROFESSIO NAL ETHICS, ECONOMIC S AND BUSINESS MANAGEME NT	OPTIMIZATI ON METHODS (EIS-I)	BIOPROCES S ENGINEERI NG (CE-I)							
Semester:	5 DASARI JAYA SURYA SRI	INIVAS		0.0			00	50										BACKLOG:
U22CH086	24.00 14.00	3.46	5.35	CD	BB	FF	CC	ВС	CC	FF	FF							14 CREDIT(S)
Semester	Student Name	•	Course Code	CH301 T	CH301 P	CH303 T	CH305 T	CH307 P	HU301 T	CH365 T	CH327 T							
			Credit	4.00	1.00	4.00	4.00	1.00	4.00	3.00	3.00							
Admission Number	Reg- Earn- Credit Credit	SGPA	CGPA	MASS TRANSFER OPERATION S - II	MASS TRANSFER OPERATION S - II (PRAC.)	CHEMICAL ENGINEERI	CHEMICAL REACTION ENGINEERI NG - II	SEMINAR	PROFESSIO NAL ETHICS, ECONOMIC S AND BUSINESS MANAGEME NT		INTRODUCT							
Semester: !		8.38	8.35	AB	AB	AB	ВС	AB	ВВ	AB	ВВ							

Ichchhanath, Surat-395007 (Gujarat), India

REPORT SHEET SHOWING RESULT OF CANDIDATES APPEARED AT B.TECH. III FIFTH SEMESTER CHEMICAL ENGINEERING AT REGULAR EXAM HELD DURING NOV/DEC 2024

			1	2	3	4	5	6	7	8	9	10	11	12	13	14	Remark
Semester	Student Name	Course Co		CH301 P	CH303 T	CH305 T	CH307 P	HU301 T	PH363 T	CH327 T							
		Cre	dit 4.00	1.00	4.00	4.00	1.00	4.00	3.00	3.00							
Admission Number	Reg- Earn- Credit Credit	SGPA CGPA	MASS TRANSFER OPERATION S - II	MASS TRANSFER	CHEMICAL ENGINEERI	CHEMICAL REACTION ENGINEERI NG - II	SEMINAR	PROFESSIO NAL ETHICS, ECONOMIC S AND BUSINESS MANAGEME NT	SOLAR CELL TECHNOLO GIES (EIS-I)	INTRODUCT ION OF							
Semester :	5 NISHA SINHA		AB	AA	AA	BB	AA	AA	AB	AB							
U22CH088	24.00 24.00	9.25 8.91							\ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \	,							
Semester	Student Name	Course Co	de CH301 T	CH301 P	CH303 T	CH305 T	CH307 P	HU301 T	EC361 T	CH321 T							
		Cre	dit 4.00	1.00	4.00	4.00	1.00	4.00	3.00	3.00							
Admission Number	Reg- Earn- Credit Credit	SGPA CGPA	MASS TRANSFER OPERATION S - II		CHEMICAL ENGINEERI NG THERMODYN AMICS - II	CHEMICAL REACTION ENGINEERI NG - II	SEMINAR	PROFESSIO NAL ETHICS, ECONOMIC S AND BUSINESS MANAGEME NT	SENSORS AND TRANSDUCE RS (EIS-I)	BIOPROCES S ENGINEERI NG (CE-I)							
Semester :	5 VISHAL		ВС	BB	CD	СС	AB	AB	ВС	CD							
U22CH090	24.00 24.00	6.71 6.91															
Semester	Student Name	Course Co	de CH301 T	CH301 P	CH303 T	CH305 T	CH307 P	HU301 T	HS310 T	CH327 T							
		Cre	dit 4.00	1.00	4.00	4.00	1.00	4.00	3.00	3.00							
Admission Number	Reg- Earn- Credit Credit	SGPA CGPA	MASS TRANSFER OPERATION S - II		CHEMICAL ENGINEERI NG THERMODYN AMICS - II	CHEMICAL REACTION ENGINEERI NG - II	SEMINAR	PROFESSIO NAL ETHICS, ECONOMIC S AND BUSINESS MANAGEME NT	FOREIGN LANGUAGE COURSE IN GERMAN (EIS-I)	INTRODUCT ION OF ELECTROCH EMISTRY (CE-I)							
Semester :	5 ADITYA PATEL		4.5	4.5	00	D0				DD.							
U22CH091	24.00 24.00) 7.71 7.73	AB	AB	CC	ВС	BB	BB	BB	BB							
Semester	Student Name	Course Co	de CH301 T	CH301 P	CH303 T	CH305 T	CH307 P	HU301 T	HU361 T	CH327 T							
		Cre	dit 4.00	1.00	4.00	4.00	1.00	4.00	3.00	3.00							
Admission Number	Reg- Earn- Credit Credit	SGPA CGPA	MASS TRANSFER OPERATION S - II	MASS TRANSFER	CHEMICAL ENGINEERI	CHEMICAL REACTION ENGINEERI	SEMINAR	PROFESSIO NAL ETHICS, ECONOMIC S AND BUSINESS MANAGEME NT	MARKETING MANAGEME NT (EIS-I)	ION OF							
Semester : U22CH092	5 UJJWAL CHAMOLI 24.00 24.00	0 8.04 9.25	ВС	AB	AB	ВС	ВВ	AB	ВС	AB							

Ichchhanath, Surat-395007 (Gujarat), India

REPORT SHEET SHOWING RESULT OF CANDIDATES APPEARED AT B.TECH. III FIFTH SEMESTER CHEMICAL ENGINEERING AT REGULAR EXAM HELD DURING NOV/DEC 2024

				1	2	3	4	5	6	7	8	9	10	11	12	13	14	Remark
Semester	Student Name	C	Course Code	CH301 T	CH301 P	CH303 T	CH305 T	CH307 P	HU301 T	CE377 T	CH327 T							
			Credit	4.00	1.00	4.00	4.00	1.00	4.00	3.00	3.00							
Admission Number	Reg- Earn- Credit Credit	SGPA	CGPA	MASS TRANSFER OPERATION S - II	MASS TRANSFER OPERATION S - II (PRAC.)	CHEMICAL ENGINEERI	CHEMICAL REACTION ENGINEERI NG - II	SEMINAR	PROFESSIO NAL ETHICS, ECONOMIC S AND BUSINESS MANAGEME NT	INTRODUCT ION TO EARTHQUAK E ENGINEERI NG (EIS-I)	INTRODUCT ION OF ELECTROCH EMISTRY (CE-I)							
Semester:	5 HARSH RAI			ВС	AB	ВС	СС	AB	ВС	ВС	ВС							
U22CH093	24.00 24.00	0 7.00	7.49		AD	ВС		ΛD	ВС	ВС								
Semester	Student Name	C	Course Code	CH301 T	CH301 P	CH303 T	CH305 T	CH307 P	HU301 T	MA361 T	CH321 T							
			Credit	4.00	1.00	4.00	4.00	1.00	4.00	3.00	3.00							
Admission Number	Reg- Earn- Credit Credit	SGPA	CGPA	MASS TRANSFER OPERATION S - II	MASS TRANSFER OPERATION S - II (PRAC.)	CHEMICAL ENGINEERI NG THERMODYN AMICS - II	CHEMICAL REACTION ENGINEERI NG - II	SEMINAR	PROFESSIO NAL ETHICS, ECONOMIC S AND BUSINESS MANAGEME NT	ADVANCED MATHEMATI CAL METHODS (EIS-I)	BIOPROCES S ENGINEERI NG (CE-I)							
Semester:	5 ANSHU KUMARI MISH	IRA		ВС	AD	DC.	CC	AD	DD	A D	BB							
U22CH094	24.00 24.00	0 7.54	7.13	ВС	AB	ВС		AB	BB	AB								
Semester	Student Name		Course Code	CH301 T	CH301 P	CH303 T	CH305 T	CH307 P	HU301 T	CH365 T	CH321 T							
			Credit	4.00	1.00	4.00	4.00	1.00	4.00	3.00	3.00							
Admission Number	Reg- Earn- Credit Credit	SGPA	CGPA	MASS TRANSFER OPERATION S - II	MASS TRANSFER OPERATION S - II (PRAC.)	CHEMICAL ENGINEERI NG THERMODYN AMICS - II	CHEMICAL REACTION ENGINEERI NG - II	SEMINAR	PROFESSIO NAL ETHICS, ECONOMIC S AND BUSINESS MANAGEME NT	FUELS AND COMBUSTIO N (EIS-I)	BIOPROCES S ENGINEERI NG (CE-I)							
Semester :	5 NAMAN MAHESHWAR	I		-00	50	0.0	00				DD							
U22CH095	24.00 24.00	0 5.46	6.36	CC	ВС	CD	CC	BB	CC	DD	DD							
Semester	Student Name		Course Code	CH301 T	CH301 P	CH303 T	CH305 T	CH307 P	HU301 T	PH363 T	CH327 T							
			Credit	4.00	1.00	4.00	4.00	1.00	4.00	3.00	3.00							
Admission Number	Reg- Earn- Credit Credit	SGPA	CGPA	MASS TRANSFER OPERATION S - II	MASS TRANSFER OPERATION S - II (PRAC.)	CHEMICAL ENGINEERI	CHEMICAL REACTION ENGINEERI NG - II	SEMINAR	PROFESSIO NAL	SOLAR CELL TECHNOLO GIES (EIS-I)	INTRODUCT ION OF ELECTROCH EMISTRY (CE-I)							
Semester : U22CH096		0 8.00	9.01	ВС	AB	ВС	СС	АВ	AA	АВ	AB							

Ichchhanath, Surat-395007 (Gujarat), India

REPORT SHEET SHOWING RESULT OF CANDIDATES APPEARED AT B.TECH. III FIFTH SEMESTER CHEMICAL ENGINEERING AT REGULAR EXAM HELD DURING NOV/DEC 2024

				1	2	3	4	5	6	7	8	9	10	11	12	13	14	Remark
Semester	Student Name	(Course Code	CH301 T	CH301 P	CH303 T	CH305 T	CH307 P	HU301 T	EC361 T	CH321 T							
			Credit	4.00	1.00	4.00	4.00	1.00	4.00	3.00	3.00							
Admission Number	Reg- Earn- Credit Credit	SGPA	CGPA	MASS TRANSFER OPERATION S - II	MASS TRANSFER OPERATION S - II (PRAC.)	CHEMICAL ENGINEERI NG THERMODYN AMICS - II	CHEMICAL REACTION ENGINEERI NG - II	SEMINAR	PROFESSIO NAL ETHICS, ECONOMIC S AND BUSINESS MANAGEME NT	SENSORS AND TRANSDUCE RS (EIS-I)	BIOPROCES S ENGINEERI NG (CE-I)							
Semester :	5 GARIMA RATHOR			ВС	BB	СС	СС	BB	AB	ВС	СС							
U22CH097	24.00 24.00	6.96	7.00					00	\ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \									
Semester	Student Name	(Course Code	CH301 T	CH301 P	CH303 T	CH305 T	CH307 P	HU301 T	PH363 T	CH327 T							
			Credit	4.00	1.00	4.00	4.00	1.00	4.00	3.00	3.00							
Admission Number	Reg- Earn- Credit Credit	SGPA	CGPA	MASS TRANSFER OPERATION S - II	MASS TRANSFER OPERATION S - II (PRAC.)	CHEMICAL ENGINEERI NG THERMODYN AMICS - II	CHEMICAL REACTION ENGINEERI NG - II	SEMINAR	PROFESSIO NAL ETHICS, ECONOMIC S AND BUSINESS MANAGEME NT	SOLAR CELL TECHNOLO GIES (EIS-I)	INTRODUCT ION OF ELECTROCH EMISTRY (CE-I)							
Semester :	5 VIKRAM POONIA			BB	ΛD	ВС	ВС	۸D	DD		BB							
U22CH098	24.00 24.00	8.00	8.41	DD	AB	ВС	ВС	AB	BB	AA								
Semester	Student Name	•	Course Code	CH301 T	CH301 P	CH303 T	CH305 T	CH307 P	HU301 T	HU361 T	CH327 T							
			Credit	4.00	1.00	4.00	4.00	1.00	4.00	3.00	3.00							
Admission Number	Reg- Earn- Credit Credit	SGPA	CGPA	MASS TRANSFER OPERATION S - II	MASS TRANSFER OPERATION S - II (PRAC.)	CHEMICAL ENGINEERI NG THERMODYN AMICS - II	CHEMICAL REACTION ENGINEERI NG - II	SEMINAR	PROFESSIO NAL ETHICS, ECONOMIC S AND BUSINESS MANAGEME NT	MARKETING MANAGEME NT (EIS-I)	INTRODUCT ION OF ELECTROCH EMISTRY (CE-I)							
Semester :	5 ASMIT KUMAR PANDEY			A.D.		AD	DD	4 D	A.D.		ΛD							
U22CH099	24.00 24.00	9.00	8.24	AB	AA	AB	BB	AB	AB	AA	AB							
Semester	Student Name		Course Code	CH301 T	CH301 P	CH303 T	CH305 T	CH307 P	HU301 T	CH365 T	CH321 T							
			Credit	4.00	1.00	4.00	4.00	1.00	4.00	3.00	3.00							
Admission Number	Reg- Earn- Credit Credit	SGPA	CGPA	MASS TRANSFER OPERATION S - II	MASS TRANSFER OPERATION S - II (PRAC.)	CHEMICAL ENGINEERI NG THERMODYN AMICS - II	CHEMICAL REACTION ENGINEERI NG - II	SEMINAR	PROFESSIO NAL ETHICS, ECONOMIC S AND BUSINESS MANAGEME NT	FUELS AND COMBUSTIO N (EIS-I)	BIOPROCES S ENGINEERI NG (CE-I)							
Semester : U22CH100	5 AMBARISH KUMAR 24.00 24.00	7.46	7.42	ВС	AB	CC	ВС	AB	AB	ВВ	ВС							

Ichchhanath, Surat-395007 (Gujarat), India

				1	2	3	4	5	6	7	8	9	10	11	12	13	14	Remark
Semester	Student Name	(Course Code	CH301 T	CH301 P	CH303 T	CH305 T	CH307 P	HU301 T	EC361 T	CH321 T				1			
			Credit	4.00	1.00	4.00	4.00	1.00	4.00	3.00	3.00							
Admission Number	Reg- Earn- Credit Credit	SGPA		MASS TRANSFER OPERATION S - II	MASS TRANSFER OPERATION S - II (PRAC.)	CHEMICAL ENGINEERI NG THERMODYN AMICS - II	CHEMICAL REACTION ENGINEERI NG - II	SEMINAR	PROFESSIO NAL ETHICS, ECONOMIC S AND BUSINESS MANAGEME NT	SENSORS AND TRANSDUCE RS (EIS-I)	BIOPROCES S							
Semester:	5 PARMAR PARTH PARESH		7.11	ВС	BB	CD	СС	AB	AB	AB	BB							
Semester	Student Name		Course Code	CH301 T	CH301 P	CH303 T	CH305 T	CH307 P	HU301 T	EE363 T	CH321 T							
			Credit	4.00	1.00	4.00	4.00	1.00	4.00	3.00	3.00							
Admission Number	Reg- Earn- Credit Credit	SGPA		MASS TRANSFER OPERATION S - II	MASS TRANSFER OPERATION S - II (PRAC.)	CHEMICAL ENGINEERI NG THERMODYN AMICS - II	CHEMICAL REACTION ENGINEERI NG - II	SEMINAR	PROFESSIO NAL ETHICS, ECONOMIC S AND BUSINESS MANAGEME NT	OPTIMIZATI ON METHODS (EIS-I)	BIOPROCES S ENGINEERI NG (CE-I)							
Semester : U22CH102		3.75	5.53	FF	ВС	DD	CD	ВВ	СС	CD	FF							BACKLOG: 19 CREDIT(S)
Semester	Student Name	•	Course Code	CH301 T	CH301 P	CH303 T	CH305 T	CH307 P	HU301 T	CH365 T	CH321 T							
			Credit	4.00	1.00	4.00	4.00	1.00	4.00	3.00	3.00							
Admission Number	Reg- Earn- Credit Credit	SGPA	CGPA	MASS TRANSFER OPERATION S - II	MASS TRANSFER OPERATION S - II (PRAC.)	CHEMICAL ENGINEERI NG THERMODYN AMICS - II	CHEMICAL REACTION ENGINEERI NG - II	SEMINAR	PROFESSIO NAL ETHICS, ECONOMIC S AND BUSINESS MANAGEME NT	FUELS AND COMBUSTIO N (EIS-I)	BIOPROCES S ENGINEERI NG (CE-I)							
Semester :	5 ANANT KUMAR CHAUDH	IARY		BB	AB	ВС	ВС	AB	AB	AB	BB							
U22CH103	24.00 24.00	8.04	7.56	DD	AD	ВС	טט	AD	AD	AD								
Semester	Student Name	•	Course Code	CH301 T	CH301 P	CH303 T	CH305 T	CH307 P	HU301 T	HU361 T	CH327 T							
			Credit	4.00	1.00	4.00	4.00	1.00	4.00	3.00	3.00							
Admission Number	Reg- Earn- Credit Credit	SGPA	CGPA	MASS TRANSFER OPERATION S - II	MASS TRANSFER OPERATION S - II (PRAC.)		CHEMICAL REACTION ENGINEERI NG - II	SEMINAR	PROFESSIO NAL ETHICS, ECONOMIC S AND BUSINESS MANAGEME NT	MARKETING MANAGEME NT (EIS-I)	ION OF							
Semester : U22CH104	5 SONU KUMAR 24.00 24.00	8.50	8.25	BB	AB	AB	ВВ	BB	AB	ВВ	АВ							

Ichchhanath, Surat-395007 (Gujarat), India

REPORT SHEET SHOWING RESULT OF CANDIDATES APPEARED AT B.TECH. III FIFTH SEMESTER CHEMICAL ENGINEERING AT REGULAR EXAM HELD DURING NOV/DEC 2024

			1	2	3	4	5	6	7	8	9	10	11	12	13	14	Remark
Semester	Student Name	Course Code	CH301 T	CH301 P	CH303 T	CH305 T	CH307 P	HU301 T	PH361 T	CH327 T							
		Credit	4.00	1.00	4.00	4.00	1.00	4.00	3.00	3.00						i	
Admission Number	Reg- Earn- Credit Credit	SGPA CGPA	MASS TRANSFER OPERATION S - II	MASS TRANSFER OPERATION S - II (PRAC.)	CHEMICAL ENGINEERI NG THERMODYN AMICS - II	CHEMICAL REACTION ENGINEERI NG - II	SEMINAR	PROFESSIO NAL ETHICS, ECONOMIC S AND BUSINESS MANAGEME NT	BASICS OF ASTRONOMY AND ASTROPHYS ICS (EIS-I)	INTRODUCT ION OF ELECTROCH EMISTRY (CE-I)							
Semester :	5 DEVAL MEHTA		ВС	BB	ВС	ВС	AA	BB	AA	AA						i	
U22CH105	24.00 24.00	8.08 8.03				50	701		701	, , , ,							
Semester	Student Name	Course Code	CH301 T	CH301 P	CH303 T	CH305 T	CH307 P	HU301 T	HU361 T	CH327 T							
		Credit	4.00	1.00	4.00	4.00	1.00	4.00	3.00	3.00							
Admission Number	Reg- Earn- Credit Credit	SGPA CGPA	MASS TRANSFER OPERATION S - II	MASS TRANSFER OPERATION S - II (PRAC.)	CHEMICAL ENGINEERI NG THERMODYN AMICS - II	CHEMICAL REACTION ENGINEERI NG - II	SEMINAR	PROFESSIO NAL ETHICS, ECONOMIC S AND BUSINESS MANAGEME NT	MARKETING MANAGEME NT (EIS-I)	INTRODUCT ION OF ELECTROCH EMISTRY (CE-I)							
Semester :	5 SHIKHAR SHUKLA		AB	AB	AA	BB	AB	AB	AA	AA						1	
U22CH106		9.25 8.69															
Semester	Student Name	Course Code	CH301 T	CH301 P	CH303 T	CH305 T	CH307 P	HU301 T	CH365 T	CH321 T							
		Credit	4.00	1.00	4.00	4.00	1.00	4.00	3.00	3.00							
Admission Number	Reg- Earn- Credit Credit	SGPA CGPA	MASS TRANSFER OPERATION S - II	MASS TRANSFER OPERATION S - II (PRAC.)	CHEMICAL ENGINEERI NG THERMODYN AMICS - II	CHEMICAL REACTION ENGINEERI NG - II	SEMINAR	PROFESSIO NAL ETHICS, ECONOMIC S AND BUSINESS MANAGEME NT	FUELS AND COMBUSTIO N (EIS-I)	BIOPROCES S ENGINEERI NG (CE-I)							
Semester :	5 AWALE VARAD VIVEK		CD	BB	CD	ВС	AB	ВС	ВВ	CD							
U22CH107	24.00 24.00	6.33 7.02		ВВ	CD	ВС	AD	ВС	ВВ							i	
Semester	Student Name	Course Code	CH301 T	CH301 P	CH303 T	CH305 T	CH307 P	HU301 T	EE363 T	CH321 T							
		Credit	4.00	1.00	4.00	4.00	1.00	4.00	3.00	3.00							
Admission Number	Reg- Earn- Credit Credit	SGPA CGPA	MASS TRANSFER OPERATION S - II	MASS TRANSFER OPERATION S - II (PRAC.)	CHEMICAL ENGINEERI NG THERMODYN AMICS - II	CHEMICAL REACTION ENGINEERI NG - II	SEMINAR	PROFESSIO NAL ETHICS, ECONOMIC S AND BUSINESS MANAGEME NT	OPTIMIZATI ON METHODS (EIS-I)	BIOPROCES S ENGINEERI NG (CE-I)							
Semester : U22CH108	5 BODA SUNITHA 24.00 13.00	3.42 5.79	FF	ВВ	FF	CD	ВВ	ВС	СС	FF							BACKLOG: 11 CREDIT(S)

Ichchhanath, Surat-395007 (Gujarat), India

REPORT SHEET SHOWING RESULT OF CANDIDATES APPEARED AT B.TECH. III FIFTH SEMESTER CHEMICAL ENGINEERING AT REGULAR EXAM HELD DURING NOV/DEC 2024

				1	2	3	4	5	6	7	8	9	10	11	12	13	14	Remark
Semester	Student Name	Course	e Code	CH301 T	CH301 P	CH303 T	CH305 T	CH307 P	HU301 T	HU361 T	CH327 T							
			Credit	4.00	1.00	4.00	4.00	1.00	4.00	3.00	3.00							
Admission Number	Reg- Earn- Credit Credit	SGPA CGF	PA	MASS TRANSFER OPERATION S - II	MASS TRANSFER OPERATION S - II (PRAC.)	CHEMICAL ENGINEERI NG THERMODYN AMICS - II	CHEMICAL REACTION ENGINEERI NG - II	SEMINAR	PROFESSIO NAL ETHICS, ECONOMIC S AND BUSINESS MANAGEME NT	MARKETING MANAGEME NT (EIS-I)	INTRODUCT ION OF ELECTROCH EMISTRY (CE-I)							
Semester :	5 RAMAN			BB	BB	AA	ВС	AB	BB	ВС	AB							
U22CH109	24.00 24.00	8.21 8.	.31					AD		ВО	,							
Semester	Student Name	Course	e Code	CH301 T	CH301 P	CH303 T	CH305 T	CH307 P	HU301 T	CH365 T	CH327 T							
			Credit	4.00	1.00	4.00	4.00	1.00	4.00	3.00	3.00							
Admission Number	Reg- Earn- Credit Credit	SGPA CGI	PA	MASS TRANSFER OPERATION S - II	MASS TRANSFER OPERATION S - II (PRAC.)	CHEMICAL ENGINEERI NG THERMODYN AMICS - II	CHEMICAL REACTION ENGINEERI NG - II	SEMINAR	PROFESSIO NAL ETHICS, ECONOMIC S AND BUSINESS MANAGEME NT	FUELS AND COMBUSTIO N (EIS-I)	INTRODUCT ION OF ELECTROCH EMISTRY (CE-I)							
Semester :	5 VANKAR MITESHKUMAR			AB	AB	ВС	ВС	AB	AB	AA	AB							
U22CH110	24.00 24.00	8.46 8.	.28															
Semester	Student Name	Course	e Code	CH301 T	CH301 P	CH303 T	CH305 T	CH307 P	HU301 T	CE377 T	CH321 T							
			Credit	4.00	1.00	4.00	4.00	1.00	4.00	3.00	3.00							
Admission Number	Reg- Earn- Credit Credit	SGPA CGF	PA	MASS TRANSFER OPERATION S - II	MASS TRANSFER OPERATION S - II (PRAC.)	CHEMICAL ENGINEERI NG THERMODYN AMICS - II	CHEMICAL REACTION ENGINEERI NG - II	SEMINAR	PROFESSIO NAL ETHICS, ECONOMIC S AND BUSINESS MANAGEME NT	INTRODUCT ION TO EARTHQUAK E ENGINEERI NG (EIS-I)	BIOPROCES S ENGINEERI NG (CE-I)							
Semester :	5 GAURAV SINGH			55	4.5	50	00			4.5	DD							
U22CH111	24.00 24.00	7.75 7.	.62	BB	AB	ВС	CC	AA	BB	AB	BB							
Semester	Student Name	Course		CH301 T	CH301 P	CH303 T	CH305 T	CH307 P	HU301 T	ME369 T	CH321 T							
			Credit	4.00	1.00	4.00	4.00	1.00	4.00	3.00	3.00							
Admission Number	Reg- Earn- Credit Credit	SGPA CGF	PA	MASS TRANSFER OPERATION S - II	MASS TRANSFER OPERATION S - II (PRAC.)	CHEMICAL ENGINEERI	CHEMICAL REACTION ENGINEERI NG - II	SEMINAR	PROFESSIO NAL ETHICS, ECONOMIC S AND BUSINESS MANAGEME NT	ENGINEERI NG ESTIMATION AND COSTING (EIS-I)	BIOPROCES S							
Semester : U22CH112	5 VED UMESH PAKHALE 24.00 20.00	5.33 6.	.09	CC	ВС	FF	CD	AB	ВВ	ВВ	DD							BACKLOG: 8 CREDIT(S)

Ichchhanath, Surat-395007 (Gujarat), India

REPORT SHEET SHOWING RESULT OF CANDIDATES APPEARED AT B.TECH. III FIFTH SEMESTER CHEMICAL ENGINEERING AT REGULAR EXAM HELD DURING NOV/DEC 2024

			h	1	2	3	4	5	6	7	8	9	10	11	12	13	14	Remark
Semester	Student Name	C	Course Code	CH301 T	CH301 P	CH303 T	CH305 T	CH307 P	HU301 T	CY361 T	CH321 T							
			Credit	4.00	1.00	4.00	4.00	1.00	4.00	3.00	3.00							
Admission Number	Reg- Earn- Credit Credit	SGPA	CGPA	MASS TRANSFER OPERATION S - II	MASS TRANSFER OPERATION S - II (PRAC.)	CHEMICAL ENGINEERI NG THERMODYN AMICS - II	CHEMICAL REACTION ENGINEERI NG - II	SEMINAR	PROFESSIO NAL ETHICS, ECONOMIC S AND BUSINESS MANAGEME NT	CHEMISTRY OF ENGINEERI NG MATERIALS (EIS-I)	BIOPROCES S ENGINEERI NG (CE-I)							
Semester:	5 YASH MANOJ BARIYA		 i	CD	BB	DD	DD	AB	PC PC	BB	FF							BACKLOG:
U22CH113	24.00 21.00	5.04	5.67			טט			BC				I					CREDIT(S)
Semester	Student Name	•	Course Code	CH301 T	CH301 P	CH303 T	CH305 T	CH307 P	HU301 T	CH365 T	CH321 T							
			Credit	4.00	1.00	4.00	4.00	1.00	4.00	3.00	3.00							
Admission Number	Reg- Earn- Credit Credit	SGPA	CGPA	MASS TRANSFER OPERATION S - II	MASS TRANSFER OPERATION S - II (PRAC.)	CHEMICAL ENGINEERI NG THERMODYN AMICS - II	CHEMICAL REACTION ENGINEERI NG - II	SEMINAR	PROFESSIO NAL ETHICS, ECONOMIC S AND BUSINESS MANAGEME NT	FUELS AND COMBUSTIO N (EIS-I)	BIOPROCES S ENGINEERI NG (CE-I)							
Semester: 5	5 HARSH PATEL			BB	AB	ВС	СС	BB	BB	AB	BB							
U22CH114	24.00 24.00	7.67	6.97		AD					AB			I			i		
Semester	Student Name		Course Code	CH301 T	CH301 P	CH303 T	CH305 T	CH307 P	HU301 T	ME361 T	CH321 T							
			Credit	4.00	1.00	4.00	4.00	1.00	4.00	3.00	3.00							
Admission Number	Reg- Earn- Credit Credit	SGPA	CGPA	MASS TRANSFER OPERATION S - II	MASS TRANSFER OPERATION S - II (PRAC.)	CHEMICAL ENGINEERI NG THERMODYN AMICS - II	CHEMICAL REACTION ENGINEERI NG - II	SEMINAR	PROFESSIO NAL ETHICS, ECONOMIC S AND BUSINESS MANAGEME NT	PLASTIC AND CERAMICS (EIS-I)	BIOPROCES S ENGINEERI NG (CE-I)							
Semester:	5 ABHISHEK SHYAM BAHAI	\DUR SINC	GH	AB	۸D	BC.	₽ D	NI A		AA	AA							BACKLOG:
U22CH115	24.00 23.00	8.21	7.68	AB	AB	ВС	BB	NA	BB									CREDIT(S)
Semester	Student Name		Course Code	CH301 T	CH301 P	CH303 T	CH305 T	CH307 P	HU301 T	CY361 T	CH321 T							
			Credit	4.00	1.00	4.00	4.00	1.00	4.00	3.00	3.00							
Admission Number	Reg- Earn- Credit Credit		CGPA	MASS TRANSFER OPERATION S - II	MASS TRANSFER OPERATION S - II (PRAC.)	CHEMICAL ENGINEERI NG THERMODYN AMICS - II	CHEMICAL REACTION ENGINEERI NG - II	SEMINAR	PROFESSIO NAL ETHICS, ECONOMIC S AND BUSINESS MANAGEME NT	OF	S ENGINEERI NG (CE-I)							
Semester : 5 U22CH116	5 NIRAJ SUBHASH VISHWA			ВС	BB	СС	ВС	AB	BB	AB	АВ							

Total Student Count: 112